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ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017

1)

2)

3)

4)

Match The Following:

a) Glycolysis i) occurs only under aerobic condition

b) Oxidative decarboxylation ii) tricarboxylic acid cycle — TCA cycle

c) Krebs cycle iii) cytochromes (cyt.b, cyt.c, cyt.a and cyt.a3).

d) Electron transport chain iv) net gain is 2ATP and 2NADH2.

a) HlewerGamemseverdlen i) sGrmuils plewsvuiled i HIGw eTHLIBSI DG

b) &l Grhm sriueT Esd  ii)ewrsriursdledlds e s&pmd - TCA sypmd

c) &yl sHynd iii) w1 GLmr@gG8rmb (cyt.b, cyt.c, cyt.a wpHmid cyt.a3)
d) erev&ELgmedt HL_GgI Fhisled) iv) Blar eoruid 2ATP wpmib 2NADH2

A) a-iv,b-i,c-ii,d-iii
B) a-i,b-ii,c-iii,d-iv
C) a-iv,b-iii,c-ii,d-i
D) a-i,b-iii,c-ii,d-iv

Which of the following is NOT correct
I) The nitrogenous bases are of two kinds — purines and pyrimidines.
1) Adenine and guanine are the purines & thymine and cytosine are pyrimidines.
IIl) The nitrogenous bases found in DNA are adenine, guanine, cytosine and thymine
IV)  The nitrogenous bases found in RNA guanine, cytosine, thymine, uracil.

£1p @YU’ L _eweusafley seumresr eweu 61

I) BTt sTrmiser Lfligeirser Lluyfleirser star ) euewaliLi(Hid

1) 9| L4666, HouTenesteir yaslweney Lilwyflerasearm@id & swdFl CLrfler wHmid engLdlesr
g alweneu LilfLbliq 6515 6mT @ LD

I1I) DNA-aflev 2 _6Tem enBbL_re6iT &TIhIS6T B)lqeM6dTedl, deuTenesrer, enal GLrHler wHmiib
enLbl6dT

IV) RNA-afl60 2_6iTer e»BL_Tre6iT &TrhIS6T & 6sUTemesrsiT, engl GL rHler , ewspLiledr HMID wyrmFlev

A) 1 B) II C) III D)1V

Find out the correct Match/es:

I) Carbohydrates -Poly hydroxy aldehydes (or) ketones

II) Non-Essential amino acids -lycine, methionine

III) Vitamin D -Sunshine vitamin

IV) Mucin -Glycoprotein

Fflwrer QUTHSSSPewesrdsl WeneseneT &esorL_1%:

I) srirGurenant Gri_ -umed] ewam L rrdhend evIgenan HEH6T (96LevgI) &1L GL TesrdhsiT
1) Sjeudutiblevevm 9 LOIGerT yLilevBIg% 6T - ewevFleir, 6lLGHHGuwiTenesTedT

I1I) emeut L LOl6dT I1q - @G spefl eweul’ L 1dledr

IV) 16 uyFlest - HlewerdhGHT LTHid

A) LILIII B) LILIV C) ILIILIV D) LIILIV

The frequency of oscillations (n) is n=?
9|V HeiledT BT GleueisT (N) 6TedTLIZH N=?

A) B) Q) D)
o[ L g L o |1
T g 27\ 1 2r\m =T C
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017
5) Which of the following is NOT correct?
A) The escape speed for Earthis 11.2 km/s

B) The escape speed for planet Mercury itis 11.4 km/s

C) The escape speed for for Jupiter it is 60 km/s
D) The escape speed for Moon is about 2.5 km/s

£1p P iul L _eweuseafls Seumrer eweu 615
A) yeiluilsv all@u@® Gsusib -11.2 km/s
B) ygeir Caraflsv all@u® Geusiv-11.4 km/s
C) ellwryesr Camaflsv allGu®m Csusib -60 km/s
D) slevallsir efl(hu® Gsusi-2.5 km/s

6) Find out the correct Match/es:

I) Bernoulli’s theorem - Lift of an aircraft wing

1) Pascal’s law - Hydraulic lift

110) Unit of Stress - NO unit

IV)  Unit of Strain - N om=

Fflwrer QUTHSSS5Fenerrds/ wWenausener HasrL_1ls:

I) Cuiereyedluilsr GsmHmib -eurenriglulledt @mabemauilsy 9S50
1) UTeEeD ailgl - ewaL_gmedld Ol

III) BHMHE| VG - 9V G @)svemev

V) iy oo N e

A) LII B) LI C) LILIII D) I,IL,IV

7) The mass of the Earth is M=?
yeallullest Blewm sTedTLI| M=?
A) 9.8 ms? ) 6.67 x 102 N m? kg2, 5.98 x 10%* kg D)7.3x 107 rad s

8) Choose the correct answer:
Which of the following diseases are caused due to Methylmercury?

D) Itai-Itai Disease
1) Minamata Disease
110) Niigata Minamata Disease

V) Yokkaichi Asthma
Fflwrest aflenl. &mas:
Ulstteupid 6Thd Chmis Glbg Flev Gl @Ml -wmed sgHLIEID?

I) @) mis @) mis Ghri
1I) Wlerom L Grmil
I11) bamiablerom’ LT Grmil

V) QuiTdenadd oy evg)wmr
A) ILIII B) LII C) LILIII D) LILIILIV

9) ‘Expand: GIF & JPEG:-
GIF & JPEG erstruigsst aflifleurdasi:-
A) Graphics Interchange Format & Joint Photographic Experts Group
B) Graphics Interface Format & Joint Photograph Ericson Group
C) Graphics Implementation File & Joint Photo Extended Group
D) Graphics Image Format & Joint Photograph Extended Graphics
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017

10)

11)

Match the following:

Anthropology - 1) Cells
Haematology - 2) Mountains
Orology - 3) Human Culture
Cytology - 4) Blood

9 bSOTTLITVES - 1) Q&evassir
CamGiL_Teves - 2) wewsvgsiT
PCrmevgf - 3) 5®F

sl GLrevgs - 4) weflg HevTFFTILD

a-2,b-4,c-1,d-3
a-4,b-2,c-1,d-3
a-3,b-4,c-2,d-1
a-2,b-4,c-3,d-1

Which kind of a memory is called as volatile memory?

BleweLIWIMM BleWSITEUBLD 6THTMEMPSHBLILIBILD [BHlewesTeudsLd?

A)

12)
A)

A)

13)
A)
B)
C)
D)

A)
B)
C)
D)

14)

RAM B) ROM C) PROM D)EPROM

1024 Exabyte is equal to=?
Terabyte B) Zettabyte C)Yottabyte D)Petabyte

1024 e1Ge0m ewUL 6THMD G, ()60 UWTIITEITS=?
QL rredL’ B) Ol LT ewuil C)Cuirt_Lim ewiis D) (T Lm el

Light Fidelity (Li-Fi) is a?
High-speed and fully networked wireless communication technology
Light technology
Satellite technology
Defence technology
Li-Fi Qsmiflevmil Liib 6T6dTLI?
PSP LOWITS 6ueMeVLILNGITETEYIb &6 9 BlGeus SibLNulevevm GG L i CGTflsvmIL LILb
sparfl QB miflevmIL LitD
CFWHDHECHTT 6% TLHleVBIL LiLD
uTgisTiiy CmiflevmIL Litb

Match the following:

Mauna loa - i) Hawaii island 1) Active Valcano

Barren Island - ii) India 2) Dormant Valcano
Vesuvius -iii) Italy 3) Extinct Valcano
Panaka Hills -iv) Africa

Kilimanjaro

Guomrer@svmeum -1) ameumis Fey 1) QFwsvLI(HLDd 6T DEW6VSH 6T
LUTTeT &6 -ii) @)pFlwm 2) senflbs sTfloemevassir
Gleugailwisv -iii) @)$amebd] 3) 2_ullymm erfloemevassir
LIGRTSH T (& 65T M) -iv) gy liflsm

sleflepFr@rm

a-i-3, b-ii-2, c-iii-3, d-iv-3, e-iv-1
a-i-1, b-ii-1, c-iii-3, d-iv-3, e-iv-2
a-i-3, b-ii-2, c-iii-1, d-iv-3, e-iv-2
a-i-1, b-ii-1, c-iii-2, d-ii-3, e-iv-3
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017

15)
A)

A)

16)

slic s

e

17)
A)
B)
C)
D)

A)
B)
C)
D)

18)
A)

A)

19)

Which layer of the earth interior is called as “BARYSPHERE”?
SIAL B) Asthenosphere C) SIMA D) NIFE

L iluflest 61bg DBHH@ " CuiflevssLNlui " eTesr SewdaLILIBHEDSHI?
SIAL B) g ewg)Gesrreivestluir C) SIMA D) NIFE

Find out the correct Match/es:

Salt Crystallization -Haloclasty
Landforms associated with rivers - loess
Landforms associated with wind deposition - oxbow lake
Landforms associated with glaciers -Arete

sflwrer QUTHSSSPlewasrds/ wWenauseeT ST 1s%:
2 [ILLIG&HLDTSH6D -an TEVTEHVTaVIe
QDHCMTH OCsTLTLewL W BlevdEsHThHmBIS6T - Gevrwew
STHPYI6T LG alls580TH CSTL ML W BleVSCHTHDBIGET - GHIEDT GH6TidL i)
uesflwrmsCerm® G\FTLTyewLw BlevdCshTmHmmhidker - 96T @

LII B) IL,IV C) LIV D) LI

Which of the following is NOT correct?

El nino - Christ Child
Isothermal layer - Ozonosphere
Belt of calm - Doldrums
Cyclonic Rainfall - 4’0 clock rainfall
£1p @PIIULOul’ L_sweuseafls SeunTar eweu 615
6160 BIGevrm - BYPHDS 6T
F6luliL 9(Hd G - @Carer 9 (Hd G
S|WLOG] LOGISTL_6VLD -GLrev_(RrmLberv
L{W6V LDEmLp - BT6edT (& Loewfl ewLp GlLimfley

Which of the following'wind is not a Cool local wind?
Harmattan B) Loo C) Mistral D) Purga

Ulsttaupid 6181 @ 6flT 508 STHMI HsLeV?
9}, TLO G T 63T B) sur C) e e D) yiar

The most important public place of Mohenjodaro is the Great Bath measuring

__feet'length, _ feet breadth and __ feet depth?

CwraepFsTCrmallsst Apliyds@flw CuTg @)L ib L@ Geflwsd GeTwT@Gh @)% _ 9y

BOTIPLD, _ 9(lg HHEVIPLD 5 g DLPLPLD GC1FTEUsTL ST (&H1D?

A)

20)
I)

A)

39,23,8 B) 23,39,8 C) 32,23,8 D)39,32,8

Arrange the following Tirthankaras in chronological order:

Aranatha II) Pushpadanta III) Anantanatha  IV) Suparshvanatha

Ulsttau b &STdHsHmisTiT -Hewer &rev suflenaL(hbgis:

I) ST TS ) yluspsr ) oarhBBTSH T IV) suirgeuprai
LILILIV B)IV,ILILI C)IV,ILILI D) IV,IILILI
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21)

22)

23)

iii)
iv)
A)
B)
C)
D)
A)
B)
C)

D)

A)

B)

C)

D)

A)
B)
C)
D)

Match the following:

KINGDOM CAPITAL
Vatsa - a) Kausambi
Avanti - b) Ujjain
Kosala - c) Ayodhya
Magadha - d) Rajgriha
TS SHEMVBSTLD
UGFLD - a) GasramibLi
Sfeubl - b) 2 soepuilef]
@& TFeVLD - ¢) 9Cwrsg

L& SHLD - d) rrerdlranio

i-a,ii-b,iii-c,iv-d
i-b,ii-a,iii-d,iv-c
i-d,ii-c,iii-a,iv-b
i-d,ii-c,iii-b,iv-a
Which of the following is NOT correct?
Pari, Kari, Ori, Nalli, Pegan, Ay and Adiyaman they were known as/Kadai Yelu
Vallalgal.
The Chera kings assumed titles like Vanavaramban, Vanavan; Kuttuvan, Irumporai
and Villavar.
The Chola kings assumed titles like Thennavar.and Minavar and the Pandya kings
Assumed titles like Senni, Valavan and Killi.

The royal courts were crowded with singing bards called Panar and Viraliyar, Dancing
was performed by Kanigaiyar

£1p @YU Lu’ L _eweusafley eumrest emeu. 615 ?
urf, &rifl, @ifl, Keedl , CUgedrT, U1, B WILDTeT 6T6dT GLIWIT GLMHMeuTH6T HewL Glwiwy
QUGTETEVS 61T
QU T6UT6U T LDLIGHT ,6UT6dTeU6dT , &L (hleusdr, (@) HLGILITewM ,ailsVsveui sTedriesr CFrigseflesr L L L1
LW THeTT @D
Clgsresteur Lewaui sreiTLIdT GFTpiasafledr Ll L 11 GlLwiTserT@Lb,ClFsiTesf] suereusit slsirer]
6T6OTLIGOT LITeRoTLg Wi demledr Ll L L1 GlLiwiigerm@Lb
umewti,allFedlwi GuTedTn BTGLTIgL1 LITL&i&6T 9TFenausener GlIoTildhs aeTanTD () (HHSHTT ,

St W& W BL TS0 FMhg alleTBigleri .

Match the following:

Dynasty Period Founder
a) Qutbi i) 1211- 1266 1) Balban
b) First Ilbari ii) 1206-1211 2) Qutbuddin Aibak
c) Second Ilbari iii) 1266-1290 3) lltutmish
gLy SHTeVLD wlmieflweri
a) @sul i) 1211- 1266 1) umevLiesr
b) @y @svumi ii) 1206-1211 2) @syPler @us
C) @rewrLmib @evuimif iii) 1266-1290 3) @svgiiiley

a-i-1,b-ii-2,c-iii-3
a-ii-2,b-i-3,c-iii- 1
a-ii-2,b-iii-3,c-i-1
a-i-2,b-ii-3,c-iii- 1
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ARUL IAS ACADEMY
24)

25)

Match the following:

Sangama dynasty - 1) Sri Ranga

Saluva dynasty - 2) Narasimha

Tuluva dynasty - 3) Harihara and Bukka
Aravidu dynasty - 4) Krishna Deva Raya
FBIGLD LOTL] - 1) wof TRisT

FT@H6U LOTL| - 2) mrdlibio

Hleeme oL - 3) anflapri wHmID LsHT
Srail(® iy - 4) Amerpewtm Ggpeu FruwiesT

a-1,b-3,c-2,d-4
a-3,b-2,c-4,d-1
a-4,b-1,c-3,d-2
a-2,b-4,c-1,d-3

Match the following:

Treaty of Aix-la-Chappelle -1) 1763
Treaty of Pondicherry -2) 1765
Treaty of Paris -3) 1748
Treaty of Allahabad -4) 1754
& -0-FLI6ILI6L 2 I eiTLIgSHews: - 1) 1763
uTenTiy FEFIT] 2 I 6iTLIIGSH6W -2) 1765
umfle 2 L 6TLIg SH6m % -3) 1748
SVSTLTS 2 L 63TLILGHNS -4) 1754

a-1,b-2,c-3,d-4
a-3,b-4,c-1,d-2
a-4,b-3,c-2,d-1

D) a-2,b-1,c-4,d-3

26)

27)

28)

I)
1I)
I1I)
V)

I)
1)
111)
V)

Find out the correct Match/es:

Marudu Pandian - Sivaganga
Gopala Nayak - Dindugal
Krishnappa Nayak - Kerala
Dhoondaji - Mysore

Fflwrer QUTHSSHSewesrd/ WeneuSBMET &L 15
LD(Th& LITEUTIq UI6ST —351 6057 (h) &% 6V

Carumred prwssi — — Feusmiens

&S (HeGeRTLIL BTUISST — CHrerT

SIWTLTS] = ewLO@iT

A) LIKII B) II,III,IV C) LIL,IV

A) 20 June 1757 B) 21 June 1757

The battle of plassey held on ?

errALGumi BewL_OLDHMG ?

GROUP 1 PRE MODEL 1-2017

D) LIILIV

C) 22 June 1757 D) 23 June 1757

A). 20 sx9er 1757 B) 21 sg9eir 1757  C) 22 so@eir 1757 D) 23 pg@eir 1757

The Great Revolt at Barrackpore began on
A) 29 March 1857 B) 27 May 1857

2

C) 27 March 1857 D) 29 May 1857

uTrsLT Cu b Slerigs 9T QB TL_miSluig?
A) 29 wrirg 1857  B) 27 Gw 1857 C) 27 wmig 1857 D) 29 Gw 1857
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ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017

29) Match the following:
a) Famine Commission i) 1878 1) Sir William Hunter
b) Police Commission ii) 1902 2) Sir Richard Strachey
c¢) Education Commission iii) 1882 3) Sir Andrew Frazer
a) UEhFdH W i) 1878 1) & aflevedluwid aumedrL_i
b) amreusd giewm W ii) 1902 2) & M&si@m ev_Grmad
C) @ssvailds @ iii) 1882 3) #i gyerL_eh LNrGai

A) a-i-2,b-ii-3,c-iii-1
B) a-i-3,b-ii-2,c-iii-1
C) a-ii-2,b-i-3,c-iii-1
D) a-ii-3,b-i-2,c-iii-1

30) Match the following:
a) Nirankari Movement i) Baba Dayal Das
b) Namdhari Movement ii) Baba Ram Singh
c) Parsi Religious Reform Association iii) Furdunji Naoroji
d) Satyashodak Samaj iv) Jyotiba Phule
a) plrisrifl @udsd 1) urur Swrer Hrew
b) mrbgTil @udsid ii) urumr g Hbi
c) urid Fwow FTdmss @uidasd iii) Uirg1ep4 HeuGrmag!
d) sésw Crrgs Forem iv) Gurglur LGev

A) a-ii,b-i,c-iii,d-iv
B) a-i,b-iii,c-ii,d-iv
C) a-iii,b-ii,c-i,d-iv
D) a-i,b-ii,c-iii,d-iv

31) In a class of 50 students, 20 play Hockey, 15 play Cricket and 11 play Football. 7 A
play both Hockey and Cricket, 4 play Cricket and Football and 5 play Hockey and football.
If 18 students do not play any of these given sports, how many students play exactly two
of these sports?

2 eu@LiLils 50 wrewteuiser, 20 wrewTouissr anrsdl, 15 wrewreuisst Slifla6lsl wHmid 11
LOTEWTEUTH6T HT6VLIbGI allewariTi. 7 TewTaliser anrsd wnmib Hiflés6lsl, 4 wrenteuiser
HM&EC&SL LoHMID SHTeVUbGI LMHMILD S LOTERTEUTHST anTdhdl WHMID HTVLHE allewerwme_. 18
LrenTeuiEer @)bhs GHTHSSLILILL 6Thg allewerwiml (Hib aflewarwirL @)sVemeD 6TTMT6V, 6Td6% 68T
wrenteuiser Flwrs @) reant®h ailswerwim_(H wi_ B ailswerwimiy &) ®HLLTTser?

A) 12 B) 10 Q) 11 D) 15

32) Find the value of range and its co-efficient for the following data.
7,9,6,8,11, 10, 4
£Cp O&THSSLILL(HeTer alleuThisEhdd b6t afdFd wHMID efdFa &6lsemeu &TeavTs
7,9,6,8,11, 10, 4

A) 10,466 &7 B)0.11 & 7 C) 7 & 0.466 D)7 & 0.11
33)
40 |41 | ?
36 | 54 | 37
T8 | 97 | 66
A) 24 B) 28 C) 28 D) 26
o ' | GS1902
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34) SIMPLIFY: &@é@s

(469 + 174)% - (469 - 174)? _
(469 x 174)

A) 16 B)4 C)1 D) O
35) Find:

If29x 13 =14, 76 x 26= 34; Then 16 x 14 =?

STV

29 x 13 = 14; 76 x 26= 34 etevflev; 16 X 14 = ? er651LIG)
A) 54 B) 16 C) 26 D)29
36) A book contains 144 pages. Each page contains 25 lines. How many pages will the

book contain if every page has 24 lines?
A) 150 B) 120 C)143 D) 130

euCleUT(H LUEHSSIVID 25 euflgHewear C&TTL L|S5555F)6T ClTss LsasmIs6T 144, 9C5 GlFiig)
R616laUT[H USBSHBID 24 euflaarTs @) HHSHTEV L|SHS5HHB60T Lidd IS 6T 6T61IOTE TS5 D) (H S0
A) 150 B) 120 C)143 D) 130

37) Two taps can fill a tank in 45 minutes and 60 minutes.Another tap can empty
within 30 minutes. If the tank is empty and all the 3 taps are kept open in how much time
the tank will be filled?

A) 180 hrs B) 3 hrs C) 60 hrs D) 90 minutes

B\ @Ymiiser sph GHTL 19 6mw HesflGHesf G wewmGuwr 45 Bl 1b wHmid 60 Bl BiFeflsv
wlHUYaslngl. wpemr®m Gumit 30 Bll_gsls0 GleuallGuimmising. G 1y Sredlwirs (3)(Hd @D
Gurgl 3 GYTISEHL FIMHE (HHSTL G\HTL 1y BITIDLI eTeusuaTsy CHILD @D ?

A) 180 wewf] B) 3 wewfl C) 60 wewf] D) 90 BliflL_misseir

38) The sum of ages of 5 children born at the intervals of 3 years each is 50 years.
What is the age of the youngest child?

A) 2 years B) 3 years C) 4 years D) 7 years

3 gpemT(Q\s6 sTearm  @)ewi_Gleuaflullev LImbs S GUhewsseafler euwdlet gn L (B ClsTends
S50 o,eT(HH6T )& LD 6TevleD , 9 H6dT @)ewearwt LilsTeneTuilest 61| 6T65T6wT P
A) 2 syar@ssT B) 3 syanr(pser C) 4 oyam@sar D) 7 eyer@ser

39) SIMPLIFY: &m&@%
13331]_[4?_ 5_51] =
7 B 5
122 223 23 Ed
A) 32 B) 32 C) 32 D) 32
40) A school auditorium is 45 m long and 27 m wide. This auditorium is surrounded by

a varandha of width 3 m on its outside. Find the area of the varandha. Also, find the cost
of laying the tiles in the varandha at the rate of "100 per sq. m.

s2(H UsTafluileh 2 _siTer Hemev gn L _Ggleir pord 45 1F , 9%V 27 1F. HWVS FonL_Ge0G FHM)
CeuafliymioTas 3 1F. 9HEVIPSITET HTLPOUTTLD 2 _6TOTSHI, HTLPOUTTSHBHET LITLILIOTE| 6T6IT6uT P
SSTUTISSV @) LUFEs 1 . 161 L (565G r5.100 allflsd oy @h ClFevey &menrs:?

. > 4 2
A) 1215 m~ Rg 121500 B) 1683 m? Rs.168300 ¢) 408 T~ Rs 46800 D) NONE

o ' | GS1902
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41) Find the number of days between 12th January 2004 and 7th March 2004?
A) 53 days B) 54 days C) 55 days D) 52 days
2004 mereuril 12 &g , 2004 wrid 75@10 @ewL_uilsd 2 _6TeT BT HeW6rd HeToHd (H% P
A) 53 preitseir  B) 54 mmeirseir C) 55 prenser D) 52 prerser

42) The curved surface area of a right circular Cylinder whose radius is a units and
height b unit is?
F . Lt-E - 5 . .
A) x0°bsq. umi B) 2rabsq. units Q) 27 8q. units D) 2 5q. units

a YVGHHET YTIPLD , b V@ s 2 wrepld ClsrenTL sph Chieul L 2 Heweruilsst

euswerliugliL) ?

A ra’h & SwEsd p) 2r0b & swEadt o) 21 & @S ) 28 SwEseT

43) A ribbon is cut into 3 pieces in the ratio 3: 2: 7. If the total length of the ribbon
is 24 m, find the length of each piece.
A) 4m,6m,14m B) 14m,4m,6m C) 6m,4m,14m D) 4m,14m,6m

24 16 perpsiter sp(p MAiesr 3:2:7 e1edrm ailFB5H5l0 3 gGiswrHHeMTs Goui_t LiLBSIngI sTesflsD |
UCIUT( FIGWTLY 6T [HETLD 6T6IT6OT P
A) 4.6 ,616,14 16 B) 14 £ ,4 16 ,6 Lf C)6u5 416,146 D)4.5,14.6,66

44) How many numbers are there between 100 and 300 which either begin with or end
with 2?
eteor 1008510-3008 @10 @)ew_Gui , 6TawT 2 -ewiw GIGTL GBI V6V (plgailey ClaTesTL 6T6vT S 6T
6THDHEMEUT

A) 110 B) 109 C) 111 D) 112

45) A person walks 12 km north, and then walks 15 km east, after walking 19 km west
then he walks 15 km south. How far is he from the starting point?

s pui 12 &6 e &8s BL_Hg , Ll jeui 15 &.16. Slpsalsv bLbgl ,19 &6, Cun e,
bL bg Lereri, Seur Gan@ 15 &b bLbhs Ulsitesri, eui Qb &1L GHl60 (3)HbI 6Tel6u6T6y

SISV @) (HSSmmri?
A) 5 Km B) 9Km C)37Km D) 61Km
46) A person is standing on the first step from the bottom of a ladder. If he has to climb

4 more steps to reach exactly the middle step, how many steps does he ladder have?

§2(h BT 6 (1 syewiluiledsr S &) HHGI LBV Liguiled BHEmri . euir FAlwrs HHSST Lilg
e L_ul Cauant(Hlib sTedTmmed Cogitb 4 Lig &6 e7m Ceueit(hid, b erewflullev o eirer LigHeflesr
6TG3OT6H0T 1 6 P

A) 8 B) 9 C)10 D)11

47) The average monthly income of a person in a certain family of 5 is Rs. 10,000.
What will be the average monthly income of a person in the same family if the income of
one person increased by Rs. 1, 20,000 per year?

A) Rs. 12,000 B) Rs. 16,000 C) Rs. 20,000 D) Rs. 34,000

S pui Carent @@ GUILUL L &®uSSleL @ pui Frraifl wrg sumomerd er. 10,000.
GBUSS6V sp(H BUT euHLTETLD euHLSS D@ cp. 1, 20,000 g Fsfsgi6rers starmred, 9565
GDDLISSEIT (1 LT FTTFI] DTS 6U(HLOTEITLD 6T6IT6UT P

A) ep. 12,000 B) ep. 16,000 C) em. 20,000 D) em. 34,000

o ' | GS1902
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48) A plot of land is in the form of a quadrilateral, where one of its diagonals is 200 m
long. The two vertices on either side of these diagonals are 60 m and 50 m away from the
diagonal. What is the area of the plot of land?
A) 11,000 sq.m B) 22,000 sq.m C)30,000 sq.m D)60,000 sq.m
2 6FL_ () LEDSTWTETSHI BTHHT culgailsh 2 _6T6md| ,HH60T §3(h cLpemev el L dFlesT Barid
20018. srsdler @) eTHlT 2 _FFH6T cpewev alll L 55160HHg 6015, SO ClgTemsveailsy o sTearst
6TevfleL LITLILiene) wWmg?
A) 11,000 #. 16 B) 22,000 &. if C) 30,000 &. 1 D) 60,000 #. £

49) A ball is drawn at random from a box containing 5 green, 6 red, and 4 yellow balls.
Determine the probability that the ball drawn is not yellow?

p(h Guguiled S LFewsF, 6 Heuliy, 4 weEpFeT BMLILIHSHIHET 2_6TETET .69(H Libdl FLOGUT UILIL]
wpswmulled sTQSSLILIBSIMSGI 6THTHTEY |G LOEHF6T BIMLD (F)VEVTLO6V () (HhH% BHLPSHBEM 61 HewT(HLilLg P

A) 1/15 B) 4/15 C)2/15 D).11/15
50) An ideal table should consist Which of the following main parts:

i) Title of the table

ii) Captions or column headings

iii) Stubs or row designation

iv) Footnotes

V) Sources of data

2 FAMbHS L L euenewt sTedTLIg] LilsdTou (LD 6ThG L& SlBewer Glummmlmdss Ceusssr(Hib:

) SHEW6VLIL|

ii) BlITeL HewevLiLy

iii) BlewTS HewevLiL]

v)  Sysepliy

V) 2s1ré ooy
A) i,ii,iii only B) ii,iv,v only C) i,ii,iii,iv only D)i,ii,iii,iv,v
51) Find the distance between the points (0, 8) and (6, 0)=?

(0, 8) wmmiid (6, 0) sredtTm L6irerflaEmdh@ B)ewL it L G1%Tensvemeuds & Tesord 2
A) O B)10 C)8 D)6

52) The cost of a pen and a note book is rs. 60. The cost of a pen is rs.10 less than that
of a notebook. Find the cost of each?

s Guerrm HmID s CHTL B LYSsa CFipbg ailswev 1s.60 CGuearTailsir aflensv ChrTL_® L5

S&5S6 allemsvswil aflL. TS.10 Gewmey sTedflsv , spsiGloursTWletr allswevenutds &rerds
A) 15 & 25 B) 35 & 35 C) 25 & 35 D) 45 & 15

53) The mean of the 5 numbers is 32. If one of the numbers is excluded, then the mean
is reduced by 4. Find the excluded number.

S stewrsefler Frmam] 32. g eubleusisearlsy spsitewm Bah&Hh Curg Frreflullsy @GemmbsTev
b5 L 6TEOTENENTS: & T6wTa LD

A).160 B)28 C) 112 D) 48

54) Find the cost for filling a pit of dimensions 5 m x 2 m x 1 m with soil if the rate of
Filling is rs. 270 per cu. m
SIEX216X 116 9jereysiter s @ L ewTeLTeL BIFrtILIHE MG 6p(H HATLOL L (Hd& LoewTeL BITLILI )@ LD
Fsvey 15.270 sresfled Glords ClFeVemeuds % T6vTH

A) Rs.2700 B) rs.540 C) rs.135 D) rs.270

o ' | GS1902
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55)
A)

B)

C)
D)

A)

B)

C)

D)

56)

A)
B)
C)
D)

57)

A)

@

IAS ACADEMY GROUP 1 PRE MODEL 1-2017
Which of the following is NOT correct?
The purification or concentration of zinc blende (ZnS), and copper pyrites (CuFeS2) by

Froth flotation process

Noble metals such as Cu, Zn, Fe, Pb, Sn, etc are usually extracted by electrolysis of their
chlorides, oxides or hydroxides. Heavy metals, e.g. Au, Ag are extracted by making use of
roasting and smelting methods.

Bessemerisation -It is the process used for the manufacture of steel from pig iron.

The nickel carbonyl is then decomposed after distilling off the impurities to get pure nickel
metal and CO. The process is known as Mond’s process.

£1p PIUUL_Oul’ L_eweuseafls Seunmrer eweu 615
FOMLD HTHISHHETTET 1BIs5 Llemreanrl HmIb STOUT ewUsHIL e L iLildasliL{BID
PO BIHT LOSLIL) LD,
Curgleurs 2 wiflw 2 GevrsmiserTesr Cu, Zn, Fe, Pb, Sn wppgeflwenes suypdEsiors osnsusmseflsr
GCeTTenr (&6 , Y HMFHHET V6V WAL T TaHewF (h%afled(hbgI LlsiTerr D LI@GLIL (Lpe»mSHerilsD
UNOs®Bds u@FleTner sear 2 GevrsmiserTer , AU, Ag HE W6 auhHes0 HMILD 2 (HdhH LN %560
epsvtd L6 % H&a LB SleTD60T.
CUALTITSGSH6 -@)&1 suriliy @) HbLNed(BHHg 6Too@ @) HLdY 2 DHuUGF] GFiiw @)bepenm
LweTUBSIm ).
Bl&EH6D HTTLNHSTEY SHTIIFF 611455601637 CLPsVLD DT FHHbener Hohswr et Hewgdhsliul L gru

BlaseL 2 Geurasupld 2 1b QuDLILBSING! .@)bLpenD LTTLE (WPewm sTerTliLIHB M.

Match the following:

a) Nihonium (Nh) -1) 113
b) Oganesson (Og) -ii) 117
c) Tennessine (Ts) -ii1) 115
d) Moscovium (Mc) -iv) 118.
a) mleanresflwin(Nh) 4)-113

b) a6psv6FTsT (Og) -ii) 117
c) OLerGmevder (Ts) -iii) 115

d) GumrevGsmraiuiin(Mc) -iv) 118.
a-i,b-ii,c-iii,d<iv
a-iv,b-iii,c-ii,d-i
a-i,b-iv,c-ii,d-iii
a-I,b-ii,c-iv,d-iii

Match the following:

{

E=p—

a) Specific resistance Bluiw leirsenL_ - i) a
1 11
K= T
b) Specific conductance pluiw s1L_5gi15F5 mesr - 1i) p Ra
c) Equivalent conductance swrenr sLggissmer - iii) Go=x xV
L= Kx107 )
Hem v

d) Molar conductance Gurevri &L_ggi5H et - iv)
a-i,b-ii,c-iii,d-iv = B) a-ii,b-i,c-iii,d-iv = C)a-iv,b-iii,c-i,d-ii D)a-iv,d-iii,c-ii,d-i
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58) Find out the correct Match/es:
Population Nature of growth Census year
I) Stagnant Population : 1901 - 1921
II) Steady growth : 1921 - 1951
III) Rapid high growth. : 1981 - 2001
IV) High growth with slowing down : 1951 - 1981
&ESH6T C\BTeNSE auerTidS FHesTewLo HewTd 018 (HLIL] 6 (hL_MhIS%6T
I) w&aeT Glgremsullet 8555 Blewsv 1901 - 1921
I) Fomer eueridd : 1921 - 1951
IIl) eflewreuresr o _wi sueridd : 1981 - 2001
IV)  @wpaugnssrear 9pl@Gplsst : 1951 - 1981
A) LIV B) IIL,LIV C) LII D)L, III
59) Industries (Development and Regulation) Act Passed in the year_ .7
aueriddl HMID spBIGLILIBGSIH FL_L b GlETewT(heurtiuil L yenr®___ 2
A) 1950 B) 1951 C) 1952 D)1953
60) Match the following:
a) Jawahar Gram Samridhi Yojana (JGSY) 1) 1993
b) National Social Assistance Programme (NSAP) ii) 1999
c) Employment Assurance Scheme (EAS) iii) 1995
d) Pradhan Mantri Gramodaya Yojana (PMGY) iv) 1980
e) Swarna Jayanti Shahari Rozgar Yojana (SJSRY) v) 2001
f) Integrated Rural Development Programme (IRDP) vi) 1997
a) meusi Slymib Ceuemev sumiililigl Lib i) 1993
b) Bri® Feps 2 gais S b ii) 1999
c) Geusmev sumiiliy 2 migld Sl Luib 1i1)1995
d) Nrgwiler Geuemev sumiiiliL] Gl L 1b iv)1980
e) Gumer allpT e[ 20775 Heor Couemsv eumiiriL Il L 1D v) 2001
f) Sorw pumiemenths eusridd S L (b vi) 1997

A) a-ii,b-iii,c-i,d-v,e-vi,f-iv
B) a-iii,b-ii,c-i,d-v,e-vi,f-iv
C) a-ii,b-ijc-iii,d-v;e-iv,f-vi
D) a-ii,b-iii,c-i,d-vi,e-iv,f-v

61) Currency notes in circulation are normally referred to as?

A) Dear money B) Cheap money  C) Fiat money D)None of these
L& s slepieTer epLmit GhrL (Hdabsir 6T B WLPSHSHLILI(HF MG P

A). S|(mewLD LIewTLD B) wedley LiewTiD C) sl_Lewer uewrio D) @euppilev sTgiaid @)sVsmev

62) Direct buying and selling of securities, bills, and bonds of government as well as
private financial institutions by the central bank, on its own initiative, is called?
A) Bank rate B)Reserve Ratio C)Discount Rate D)open Market operations

ST F LSS TBISET oMM Sesflwmi Blgl Blmieushisaflesr LTgSTiLL LSS TBIGET 2 6dTlq WsVS 6T
QSN eWIDWUBIF], euThis] ,ellD@GLD HL 6y dhens 6TTMEM PSS LILI(HILD?

A) sumidl afsid B) @iy efsib C) vmisfley efsd D) Qeuefldabens bL ey sHens

o ' | GS1902
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National commission on farmers was appointed in 2004, under the chairmanship

of, ?

A) PC Mahalanobis B) VKRV Rao D)M.S.Swaminathan
allougrullassr gmss Caflw siflagesfler semeveurrs 2004 10 pevr® BwldsrLL L eui ?
A) A wasrewGrriiley  B) VKRV gmeu

63)

C)C.Rangarajan

C) # riisrreedr D) seumiflpmaesr

64) The appointment of Karve Committee by the Planning Commission in 1955 for the
purpose?
A) Improvement of Banking Sector
B) Improvement of Small Scale Industries
C) Improvement of financial Sector
D) Improvement of Railway sector
1955 6v gl L & siflager TGy GLpsweu ChTEsSHNHTH HWLHSE ©
A) sumiFlggiemm GobLi(BdsHsD
B) Ami Qsmiplev Gobuir(h
C) g giwp weirGarpid
D) gullevGeu giemm psir@eardmid

65) Which of the following is NOT correct?

I) RBI was set up : on the recommendation of Hilton Young commission
II) SBI nationalised : 1969

III) Banking regulation act : 1949

£1p @PIIAL_Lu’ L _eweusafley eumrest emeu 6rg)?
D wiil aleVL_6dT & 1p LMl hglenr

I) M&isu eumid 2 (Heurdsid

II) SBI CasFwiowiordser : 1969
III) eumid] pepmigupenm FL1b : 1949
A) 1 B) II C) III D) LILIII
66) Match the following:
FINANCE COMMISSION CHAIRMAN
a) 2nd - i) K Santhanam
b) 4th -ii) AM kushro
c) 11th -iii) PV Rajamannar
d) 8th -iv) YB chawan
B 5 & Lp SHEW6VEUT
a) 2 aug| -i) K #hgresrid
b) 4 sug -ii) AM @e3GCrr
¢). 11 eug) -iii) PV grey wesresrmi
d) 8 sugy -iv) YB #reuresr

A) a-i,b-ii,c-iii,d-iv
B) a-i,b-iii,c-ii,d-iv
C) a-i,b-ii,c-iv,d-iii
D) a-I,b-iv,c-iii,d-ii
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67) Kehkashan Basu (16) has won 2016 prestigious International Children’s Peace

Prize for her fight for climate justice and combating environmental degradation. She
was presented with the award by Mohammad Yunus at a ceremony held in,

A) Hague, Netherland
B) Brussels, belgium

C) Mumbai, Maharastra
D) Ottawa, Canada

Gasager Lra (16) ,2016-60 srevBlemsv Bd) LHMID FHMFSHYWeL Frifley CurrTl L SFnaTs Heui
WHIYLOGS FiauCHF G LHewSH6T Sjewiodl Lifls 6V L _bg s allprallest epsvid ailHg)
(PHLOG] ULEHINV JUTHEATTE) 6ULPBISLILIL L G)

A) Gamd, OBsieOTHSI

B) wrevewsven, Glusvgsliib

C) wpoewu, wEHTTTEGIGTT

D) spi’ 1L meur ,sesrLm

68) Magnus Carlsen has won the 2016 World Chess Championship ,He belongs to
the country ?

A) Russia

B) Norway

C) Sweden

D) Switzerland
Guserew srisvaet 2016 2 _svs GlFev FrbLilwisTaflisul I seng GleusTnTi, eui
BTL1gMH & GCFTHEHLOTevTEUT?

A) gegwr

B) priGeu

C) esweafL_eir

D) salldsisvrbgi

69) Which bank has launched “EazyPay” mobile application for merchants ?
allwrurfser LwesTu®B g “EazyPay “ Glurenusy ClFwedlsww sThg cumnbiss
PSS IIS?

A) HDFC

B) ICICI

C) SBI

D) ‘AXIS

70) English has been ranked first in the top 10 most powerful languages in the
world according to the 2016 World Power Language Index (PLI). Indian language Hindi
was ranked 10th in the 2016 PLI. The index was published by __?

2 & Fhglaumiipbs Gwry) @mluf® (PLI) 2016 uig, 2 sv&lsv Lrit 10 Quriflseaflsy wlseyib
FhHleuriihg Cryl g misSlevid. @ hslwraler @)bg Glwryl 10 sug @)L G5 60 2 dreng). @)hs
GOUTL (B 6Ths BlmieuestssTev Cleueflull i’ L g?

A) IMF B) WORLD BANK C)WEF D) BRICS Lilflgew
FieuGahaF Hrewrw Bl 2 605 eubis] 2 6v&% luTHenTTHTT FLOGLOETETLD
o GS1902
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71) Union government has decided to observe Water day in the country on the eve of
which leader’s birth anniversary?
A) Mahatma Gandhi
B) APJ Abdul Kalam
C) Dr. B.R. Ambedkar
D) Jawaharlal Nehru
WSS T 6ThG Sewevauflst LImbs Brewer B Slerors 9 eFflss (pige) CFIG6Tens?
A) W&THLOT HTHF
B) 9jlig160 sHe0mid
C) LrsLi Lo obCusbasi
D) smeusisvmsv Gm(m

72) Which company has launched its global startup program ‘Launch pad’in India?
A) Flipkart
B) Amazon
C) Snap deal
D) Myntra
6Thg Bmisuestid @)BBlwrallsy 9HeT 2 _svserrailw swLrils 9 Blapsd “Launch pad’
QB rLnhisluig?
A) S0 &L
B) oGwsmeir
C) ewprL 1eev
D) lbgrm

73) Tribal Affairs Minister Jual Oram:launched ‘Stanpan Suraksha’ mobile
application to promote ?

A) Education

B) Skills

C) Women safety

D) Breast feeding
6THEMST 2915l Gdb 'SV TET LIGT FTFaGT 6Tey)|lb GloTew LIy LiweTUTH LLPBIGL alleusrr
IIWIFFT 1 9I6D QILD yeuiHarTs) GGTL_BisLILI’ L g7

A) sevall

B) glmesrassir

C) Quemrser Lrgsmiiy

D) smiidiumsv

74) 7th World Ayurveda Congress (WAC) 2016 was held at ?
A) Panaji,Goa

B) Bhubaneshwar,Odisha

C) Mumbai,Maharastra

D) Kolkata, West Bengal

7 oug) 2 035 uiGeug srmislyev (WAC) 2016 etii@ pewL_Cupmg_ ?
A) uentred), Gaomeum
B). yeuGereeur,spigFr
C) wpibewL O Ty TegLq Im
D) Qarevsgsm, Gom@ aunbisTerid

o ' | GS1902
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75) Annual bilateral maritime exercise “Konkan 16”: took place between, which two
countries?

A) Indian Navy and the Royal Navy (British Navy)

B) Indian Navy and Indonesian navy

C) Indian Navy and Maldives navy

D) Indian Navy and Madagascar navy
“Qariissr 16 “- ger® @)Hsriiy sLFri 2 L puuind sths @) ® BrOsEHsd @ewLGu
pLB5SI?

A) @pslw sLpusvL wHmd Frwed sLpusyL (LMl ig6s sL_pLenL)

B) @hslw sL_puswi wpmid @)HCHresflFw HL_HLenL

C) @Qpsw sLHusHL HMID WTVSH e SLDLIEHL

D) @hslw sL_pLewL_ HMILD L STOVST HL_DHLIEHL

76) Find out the correct Matches:
D) 27th meeting of the Southern Zonal Council : Thiruvananthapuram, Kerala
1) Dr Satya Narayan : Bihari Puraskar 2016
110) Atal-Amrit Abhiyan : Assam
IV) Annapurna Rasoi Scheme :/Tamil Nadu
Fflwrer QUTHSSS5Slewesrs/ WenauSaT &L 1%
D) 27 sug) Q\BM @ LODTL 6V %6 6dTF6V dn L L LD " BlapeuedThsLrid, CHyemm
1) LT LT FSHUWI [HTTTILIEST : Yamrfl yrevasri 2016
III) OL6v-9)dG Liluiresr I |FMID
V) o|sirerLyTewTT FEFTUI Sl L 1D : SOIpBT(H
A) LILIV B) ILIILIV C) LILIII D) LILIV
77) Which State Government has launched “Biju Sishu Surakshya Yojana”?
A) Haryana
B) Bihar
C) Odisha

D) West Bengal

6Thg LOTBlVYTFTBISD "tNegn Fagn Hrrsfwr Curmert" -sweu M WasLiL@SSwg ?
A)  amflumesrr
B) famri

C) puar
D) Guma, sumisid

78) Who is the chairperson of GST council?
A) Prime Minister

B) Union Finance Minister

C) ‘Finance Commission Chairman

D) President, NITI aayog

2l6TelV1Ig H6YeTHV  FHeweveu wimi?
A) dggor
B) wsHw BlF jewindai
C) B3 o emenTuisgdler Hemeveui
D) seweveur, g HGwird
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79) Which Private aerospace company is planning to send a spacecraft to the
moon aboard an Indian Space Research Organization (ISRO) rocket on December 28,
2017? by which It will be India’s first private moon mission to be launched.
A) Team Aerospace
B) Team Brahma
C) Team Indus
D) Team Honeywell
6Ths (M et allewrCleuafl Blmieusrid, gaFbui 28, 2017 sty @)HLHwrallsT LpsHev Hevflwimi
FhFriuwentd ,@)bsw allswrCleusf] oy rmiigd) enwwid (@ewCrmr) rrés6lsl sriLedlsy FhBlr
LOGRTL V5 S D& alleinTassvld Senitit Sl L ol (Hererg)?
A) & sursTClouef]
B) @w Wribwr
C) 6w Abs
D) @w amevflGleusv

80) The Nobel Prize in Physiology or Medicine 2016 was awarded to Yoshinori
Ohsumifor __ ?

A) discoveries against infections caused by roundworm parasites

B) discoveries concerning a novel therapy against Malaria

C) discoveries of cells that constitute a positioning system in the brain

D) discoveries of mechanisms for autophagy

2016 <yib et WHSSHIMD VLG 2 L elwmislwis=aTer Gprisy Lflg: R)CuirdGsrTil g@sLo
S|OUTEHEhd @, THMHTSH QUPBISLILIL L g7

A) o _mewer L1 L _(hewTewtlser cLpsvid eyHLIBILD ClSTHM) 6TSTmenr Hevor(BLiligLiL)FH6iT

B) wGsvflwr stdlyma sph prousy AdlFews @nss  GBevor(HLilig i seir

C) Gasvser cpsmearuilsy spm GlLiTHfAagefln AevvL_ib eTedT D SHewr(RLilLg L1 HeiT

D) seiTemesrdsreniainTesnted suldl(Lpewm6ir &evut(HLilLgLILd56iT

81) Every Year September 14 is observed as ?
A) World Heart day
B) National flowers day
C) World coconut day
D) National Hindi diwas
speuGleuT(h QY eT(Hd GlFiL_oui 14 BTeTTES e FhEsliL(bhEng?
A) 2 5 @B HT6iT
B) Gsdw wevigsir mmsir
C) 2 evs Capmismil Hrer
D) GCaAw @)hF FHleurerv

82) “World Day against Death Penalty “every year falls on ?
PeUGlIT(H QYMT(HILD 2 605 LOTENT HEMTL_METHE 6THTTRT HeTIoTe eI Fiflda LD
[BT6IT ?
A) October 20 9 &CLmrui 20
B) September 21 Qeli_buir 21
C) October 10 9&CLmui 10
D) December 11 g &L 11
w GS1902
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83) Match the following:

New Prime Minister Country
a) Mariano Rajoy -1) Spain
b) Bernard Cazeneuve -1i) France
c) Bill English -iii)  New Zealand
d) Paolo Gentiloni -iv)  Italy
yglw Lirgior LLIC)
a) wflwrGerr rEeymi -1) e@uuilesr
b) Quirestrii_ smerElujsu -ii) LNrmresrerv
c) Llsv @ migleeig -iii) By Aevrnbg)
d) ueyGevr Qg evvrig GeviTent] -iv) @)gHTed

A) a-ii,b-i,c-iv,d-iii
B) a-i,b-ii,c-iii,d-iv
C) a-iv,b-iii,c-ii,d-i
D) a-ii,b-iii,c-iv,d-i

84) Choose the correct answer:
D) Jnanpith award 2016 - Kaisa matomaki and Maksym radziwill
1) Sastra Ramanujan award 2016 - Shankha ghosh
A) 1 B) II C)both I & II D) Neither I nor II
sflwrer aflenL Fmas:
I) eprerfL aima 2016 - W&FT WILEL_ T wHmID waFiih riaflaie
1) FTeglrm rrioTeniger allmgh 2016 - agsranT Casrag
A) 1 B) II C) @eweu @)rewsr(hid Fifl D) @eweu @)resst(HLd FHeumy
85) Sri Chandrasekarendra Saraswati National Eminence Award (SIES) 2016 given to?
I) Devendra Fadnavis,
II) A S Kiran Kumar

110) John Ralston Marr
V) Kamala Murthy
A) LILILIV B)ILIII only C) 1&IV only D) I & II only
of bS5 rCFC8anBlr Freweugl Casdlw Amliyilss allkgl(SIES) 2016 wrké s, suphis

bl g?

D) CasGaupglr L erafen

1I) 6T6VV ST 6sT GHLOTiT

110) EOT6ST [FT6VSTVL 63T Lo T

IV) HLOGVI CLP T S
A) LILIILIV B)ILIII wi @i C) I& IV i pib D) I& II wi_®1ib
86) The International Day for Tolerance is observed globally on

A) 216 November
B) 7 November
C)..9 November
D) 11 November

2 eaarallsy FieuGshs Falliy slard HeiFlaHsLLEILD BHTeT ?
A)7 16 meutbuii
B) 7 meuibuii
C) 9 peubui
D) 11 peubui
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87) Indian Government decided to demonetize Rs500 and Rs1,000 notes on
November8,2016. After that which among the following countries have decided to
demonetize their currencies?

I) Greece

II) Pakistan

IIl) Venezuela

IV) Australia

V) China

A) LILILIV,V B) LIL,IV,V C) ILIIL,IV D)LIII,V
@bgw e peubui 8,2016 et RsS00 wmmib Rs1,000 Grri(hiser uewr wglliLilmsasin
QFiigg 6T LIp@ Llsteuid sThs BT(HH6T SHBIgHsT CHTL_ (D6 / 5T 63T B D 61T LI6sT
wHIDESD CFin  pye| CFUISeT?

I) &ifferv

II) urslevg e

1II) Qeussflgevmr

IV) opevglGredluim

V) feorr

A) LILILIV,V B) LIL,IV,V C) IL,I1ILIV D)LIILV

88) Choose the correct answer:
I) Vanjeevan :The National Resource Centre (NRC) for Tribal Livelihood issues
II) Bunkar Mitra :Handloom Helpline Centre
III) GARV-II : mobile application to ensure transparency in rural electrification program
IV) ‘Tarang Sanchar’ portal: Department of Telecom (DoT) - to check radiation complaints
A) LILILIV B) IL,1II only C)LIV only D) LIII only
Fflwresr aflenL H@Hab:
) eusireSeustt :Cadw suer LPBIGLY suTpeuTsTyr LNFFfsmerser enwwid (NRC)
Il) yerai WGrT : ewsssM] GlamsvLisnsVesr .e» owILD
III) GARV 1II : QurepLisy LiwsTum enL - 28rfs LOeToWnTdhSHeD Sl L Gslev GleuaflliLienL &%HeTenLo
IV) srmi gepemi’ GuriLev : QgTewsvs GlsrL L s glewm (dot) - sglieafds yariser #flurids

A) LILIILIV B) ILIIT we-®1id C)LIV w @b D) LII wi" ®1id
89) Match the following

INDIAN NAVY EXERCISE COUNTRY
a) VARUNA 1) Singapore
b) SLINEX 2) Srilanka
c) INDRA 3)France
d) MALABAR 4)Russia
e) SIMBEX S5)USA

CUTBHSSHIS

@)W sL_pHuswL LuilhHF BT (D
a) VARUNA 1) Amis iy,
b).. SLINEX 2) @evniens
c)- INDRA 3) Lirmresrenv
d). MALABAR 4) reigwr
e) SIMBEX 5) o|Cwiféasr

A) a-1,b-2,c-3,d-4,e-5
B) a-3,b-2,c-4,d-5,e-1
C) a-4,b-2,c-3,d-5,e-1
D) a-3,b-1,c-4,d-5,e-2
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90) Which among the following statements are CORRECT regarding CVC(Central
Vigilance Commission)?
D) In 2004, the Government of India authorized the CVC as the “Designated Agency”
to receive written complaints for any allegation of corruption
1I) The salary, allowances and other conditions of service of the Central Vigilance

Commissioner are similar to those of the Supreme Court Judge
II0) The CVC conducts its proceedings at its headquarters (New Delhi)
A) Tonly B) ILIII only C) LIII only D) LILIII
UleiTeupLd 6Thd M SHMHHET LGB W 29TV SHEWTHTETILIL D eweRTILD G\GTL TLTES Flwimss
BB slTMEUT?
I) 2004 g1 gy emrigev, 2arpedlest @GDHDIFFTL DL TSI L LaTidsT Glum "Blwidldbes i
g6t stoor CVC &, @) S|rdr BISBTTLD 6ULpHIK WG
II) oaripsd sevorsTevflliL QyemewTiii FibLiaTD, CBT(HLILIRTEHET LHMID LMD BlENEVEHLOEHT D _&F&F
FHuwsp FHLS 955 o drarar.
III) A.all.4. searg HeWeLMLD HYIUVBHBV(L|EHI FHleVed]) BL_611LG &N BB Bleds HIHD i
A) Tl @Bib B) ILIII wi @i C) LI wi @b D) LILIII

91) Which among the following States does not have Lok ayukta act?
A) Goa B) Bihar C) West Bengal D) Andhra Pradesh

Ulstteu b 6THB T BleVBISaflsL Gevrd jujshs B)sVeme?
A) Gasmeur B) f&ri C) CGum@ sumisrerd D) ounbglrt UlrGseid

92) Which of the following is NOT correct?

A) Special Police Establishment (a division of CBI)- under the Delhi Police Establishment Act,
1949

B) CBI Training Centre- New Delhi and there are three regional training centers at Kolkata,
Mumbai and Chennai

C) The CBI Academy is located at Ghaziabad

D) The institution of Ombudsman was first created in Sweden in 1809.

£1p P iul’ L_eweuseflsh Seumresrensu 615
A)  Apiiy CGureSsw gyewwiiy (Allgy s Lilfley) - Slsvedl CGuTeTev THLBGHIBHD FL_L gdler H1p, 1949
B) Aullg uullpd ewowid- g Slevedl wpmid 3 LrCss LulhdF ewwwBssT C&TVHSST, (LpLOEHLI,
ClFsiTemesr Bl @)L BI%eTlsv 2 _sTemenr
C) Algn oyarL1f STAWTUTSSL S ewLbSGI6TETS)
D) @ewm@axer Blmysusstio 1809 o1 oy eir(h) sivelL 6T HTL 1960 (LPSH6IT (LPH6edleD 2 (heuTdhBLILIL L g

93) Which of the following is wrong?

A) CVC(Central Vigilance Commission - Statutory Body

B) National Human Rights Commission - Statutory Body

C) Election Commission - Quasi Judicial Constitutional Body
D) National Commission for SC/ST - Advisory Body

&1 GOILUL_Oul L eweusefle) SaupTearenar 615 ?
A) CVC wgglw 2ar1ps0 Hevstssmevt]LiL) Sy emewtwith - FLL_LiLilg BlmieussTid

B) Gsdfw wesfls 2 flewioser oy emesmruitd - FL1L1g Blmjeuestid
C) Gaimev oy emewruild - BIF) pewm FTTL DLW Y rFlwevenioliL] Blmiaesrid
D) SC / ST sarer Cadlu oy emewmruitd - 9,CVTFMEITS (& (LHLOLD
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94) Assertion (A): The Chief Minister can dismiss a minister of state government.
Reason(R): The Chief Minister is the head of the state council of ministers.

Answer the following questions by using the codes given below:
A) Both A and R are true and R is the correct explanation of A
B) Both A and R are true but R is not a correct explanation of A.
C) Ais true but R is false.
D) A s false but R is true.

HHSSI (A): WPHODEWFFT ,OTHIV TFTBISSSOT SeWLFFDT LiGe bEHHLD ClFUIWeVTLD
srrewntid (R): pssv9emwdsi TBlev YewwdsFi emauulledT Hemeveaum Sy euri
g DmI(A)sTrenTid(R) g Slwensu semer & &HSHls0 GlsTanT(H) £ HTamID G\HTE LI Hafled BH
2 miser allewL_emw Clgifley ClFis.
A) A wpmibR oFw @rent@®id sflwr@d wpmid Rersirugy Aullsit #flwiret aflemdsor@id
B) A wpmid.R gflw @)ressr®id Fflwm@ib .permev Reresriig) Aullest Fiflwimesr allems s osvev
C) A sflur@ gyermev R Heumi 9y @ib
D) A saimi 9@ yerrev R sflwrgid

95) How many members are nominated to the State Legislative.Council by the
Governor?
A) One-third B) One-twelfth C) One-eighth D) One-sixth

6THSMET 2_MILILINGSTT H6T QY EHBT CLPsVLD LOTBIV FL L SLDvemau-56sTHeL -5
Blwilés & L&) edTmesT?
A) eypermlev e LB B) usttesflrenTigsd spp LIBIG C) 6TL 196D sp(h LIGIE, D) @,mlsv sp(h LikiE;

96) Which one of the following pairs is correctly matched?
A) 1919 Act — Dyarchy at the Centre
B) 1861 Act — Portfolio system
C) 1935 Act — Bicameralism
D) 1853 Act — Governor-General of India
Ulstteupid sThd Cemigser &fluimras Glummbslu|erars)
A) 1919 # L ib - wsSluilev @riewL 1" F pewm
B) 1861 &' L ib - Gumril sot168Gwim oemioLiL]
C) 1935 #L4b — @)(H S| WUSATTEV Y EITEM
D) 1853 & L 1b - @) hFh Heuieri Glgaevrysv

97) Which of the following are the limitations on the sovereignty of Indian Parliament?
1. Fundamental Rights
2. Judicial Review
3. Federalism
4. Written Constitution
A)1,3 and 4
B)1,2 and 3
C)1land 2
D)1, 2,3 and 4

o ' | GS1902

[Turn over



ARUL IAS ACADEMY GROUP 1 PRE MODEL 1-2017

Ulstteupeuesteummilsd @)bhdlwi bTLTEHLOSTMSST (F)ewMUITeRTEnLd 5G| QUTLDLSH6T 2 6iTaTesT P
1) ogliuenL 2 fleniogssr
2) Balsgieom wpig e
3) ailLm’ 4
4) eTWSGI YiaunTer 9 TFluisvsnioliL]

A) 1,3 and 4

B) 1,2 and 3

C) 1 and 2

D) 1,2,3 and 4

98) Which of the following are the federal features of the Indian Constitution?
Rigid Constitution
Bicameral legislature
Office of the CAG
Collective responsibility
. Office of the Governor
A)1,2and 3 B) 1,2 and 5 C)1,2,3and 4 D) 1 and 2
@)bglw 9 rfAwevswoliier gL rl & obFmiser Lilstemeausreunmlsy 61g)?

L=

Sl wrer rflwsvenioliy)
@) mELF 1" FApewm
Fered] V16V S LD

I (B Gurmiliy

. 9LEBBIT IVIUVSLD
A)1l,2and 3 B) 1,2 and 5 C)1,2,3 and 4 D) 1 and 2

oW b=

99) The Zonal Councils have been established by:
A) Article 263 of the Constitution

B) States re-organization Act

C) Zonal Councils Act

D)An order of the President of India

LOGWTL_6V8 H6 66V BlmieuliLil (hererest ?
A) orgewwiisr ailg 263
B) wrplev wm Lrewwolin) i ib
C) et 08 FH6ysiTFlev FL L b

D) @lhglu gerrslug] o enewt

100) Which of the following Cabinet Committees is not chaired by the Prime Minister?
A) Political Affairs Committee

B) Appointments Committee

C) Committee on Parliamentary Affairs

D)Economic Affairs Committee

Liesreumid sThs CHLUIGeTL @1 LNrsoi Hemsvenoullsy @)evemsv?

A)  rfwev alleusTr &1

B) pluwersiser @

C) wumgmepwsTy alleusTr Sl 1g

D) Qumrmerrasry elleud ysbisendss e @ Lp

o | GS1902
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101) Choose the correct answer:
I) Hippocrates the Father of Medicine listed organisms with medicinal value
1) Aristotle and his student Theophrastus made the first attempt to classify
organisms without stressing their medicinal value.
III) Pliny the Elder who introduced the first artificial system of classification in his
book ‘Historia Naturalis’.
IV) John Ray an English naturalist introduced the term Taxonomy for the first'time

and Augustin-Pyramus de Candolle who coined the word species
A) LIILIV B) ILIILIV C) LILIII D) LILIV

sflwrer eflenL Hms:

) wmsSsIuSSl6T SHeWS 6T YWPsHHLILIL L aBlIGUTH 6T L s

1) WSSl PoHIWGgIeud eumiiihd Flev 2 ullflermisemer eVl L TigeVIth Seurd) LoTewTeu T
S CWrdLITOVL LD (LPSHEIT (LPSHMWITE LO(HdHGIeU LILEDISH S Bld P wdgIeuLd | 6rfldda ey
saruflflesTmISemer auenasLBSS (PwhHF CFiigeri

I1I) Lisneresf] & eT6VL_T - amlewGLTif Brédaymedlev sTedsTm HITEOET (LpHET (PeWDWITH GlFWHends
auensUTL () pewmen it BlpsLiLpdHlermi

IV) 2 reT@r 6TedTn B BIFlL @whHend HMWEhT (LPSHEIT (LPeHMIITS e LI Lg WedleD 6TedTM
UTTewHemW HBPSLILBHSSTTT. |61 60T LIFTLOGD HeBTGL_T6D 6T60TM &MeuTeailiwis)
BlyewTi 6Thgb 6p(H 20ruilAleTSBl6T U HE G LD FMWUTLD 6T6TH ClFTVEMEV (LpHEDT (LpFH6dl6D
LwesTu (RS SlesTmi

A) LIILIV B) IL,IILIV C) LILIII D) LIL,IV

102) Match the following:

Species of Plasmodium Type of fever
a) Plasmodium vivax 1) benign tertian fever
b) Plasmodium falciparum 2) malignant tertian fever
c) Plasmodium malariae 3) quartan fever
d) Plasmodium Ovale 4) mild tertian fever
UerreGiomig wisFlesr euemaassir JHUBILD STiIFFe)
a) Nermev@Lomiquilh 6»6u6Td e 1) efflwid GewmpHH ST SHriiFsFseD
b) errerv@iomiquid LirsvFAumyid 2) Bgphs urgliienu gHUBGSHID SHTiliFFeD
c) wermev@iomiguitd to@evrfluim 3) BITesTE BTL_BEHSHEG PHULPOD THLIBILD &TUIFF6V
d) NerrervGomiguitd §CeuGsv 4) epsdTmTeug) BTl Hefled CHmedTmLddsTiiiFFe0

A) a<i,b-ii,c-iii,d-iv
B) a-ii,b-i,c=iv,d-iii
C) a-iii,b-iv,c-ii,d-i
D)a-iv,b-iii,c-i,d-ii

103) Which of the following is wrong?
A) Sarcoma - Malignancy in structural tissues
B) Carcinoma - Epithelial cancers

C) Lymphoma - Lymphatic tissues
D)Leukemia - Red blood cells.
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&1 GOILULOul L eweusefled SeumTearenar 615 ?
A) FriGasrwm- 9ewwliy SlFsseaflsy eTHLIBILD B 1g e
B) sridflGerriom- ertiilgedlw ypmiGmmi
C) ObGurwr -plewrhid Fadbseafled LmHmGnmil
D) a1 ysGasulwur @)rHs Aeuli Hemisassr

104) Who is Proved Experimentally the existence of Neutrino?
A) Enrico Fermi
B) Richard P.Feyman
C) Rutherford
D)Clyde L.Cowan & Frederic Reines
wluyl FGerremear GlFwsLpswmulled Her® Liligs51 BlepLilsseui wmi ?
A) ererfl&ECs T 056 LTLA
B) Mgai P. 036 Lniissr@iossr
C) emsi uGumri(®
D) &lewer® L . Cameustr Ly Mé Griiesren

105) Identify the correctly matched Pairs among the following.
i) Spherometer - Measures the curvature of lenses
i) Voltameter - Measures the electric voltage in a circuit
iii) Theodolite - measures Horizontal and vertical angles with great accuracy
Fflwres QuUT®mSSLILIL (H6Tar @)enenTheer. SjewL_WTertd STl (he%
i) oG LI mLomesf] - allsvemsvsarflsir susweralilenest eTall(HLD
ii) GeumsvL_miomesf] - et &mpleisiter WlshTar HsHems arail (b
iii) SCwrLswevl’ (b -SlewL L MWD OFBIGHSSIdH CHTenThIGemar 9 Hls

SlvaflwgECaTH jerall(BH)b
A)1i,ii B) ii,iii C) i,iii D)i, i, iii

106) “Light rays that pass near the sun will be deflected towards it”. This effect is known
as?

A) Einstein effect

B) Doppler effect

C) Lorentz effect

D) Fitzgerald effect

“EMwesllesr o ElL GlFeLeYID parfl SMHeMMEHET G Femerr Chrehd allsvsaswemL Wb’ - B)hs
alleweraflesr GlLiwii?

A)._ensiTenviesiT alleneare]

B)/Lrderi allenerey

C) svrrsitev aflswersy

D) Uil e Gmrrsvl aflenearsy

o ' | GS1902
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107) Match the following:

SPORTS AWARD INSTITUTED YEAR
a) Rajiv Gandhi Khel Ratna - i) 1985
b) Arjuna Award - i) 1961
c¢) Dronacharya Award -1ii) 1991
d) Dhyanchand Award -iv) 2002
a) Tredeu HTHH CHeL rEHeTT -1) 1985
b) iegeerT allhg -1i) 1961
c) sIGrrewrmsdaTiwm all(hgi -iii) 1991
d) swerFemT ailHgi -iv) 2002

A) a-i,b-ii,c-iii,d-iv
B) a-iii,b-ii,c-i,d-iv
C) a-ii,b-iii,c-i,d-iv
D) a-iv,b-ii,c-iii,d-i

108) Which award is also referred as the “alternative Nobel Prize”?
A) Golden Globe Award
B) Right Livelihood Award
C) Grammy Award
D) Pulitzer Prize
6Thg allhg "wrpm Crrusv uflas" steor @GP LiLG S ?
A) GasmrevLer &Germit all(mg)
B) ewri_ svsuedleyl all(mgi
C) Armdlw aflmg
D) yedlai ufls

109) Which one of the following Relationship is correct?
Ulsttaupid sThB ClsmL_imy Flwmesrg?

: : H=log L
P g o =log ] gy pH -] | PP =180

110) Give the increasing order of the atomic masses of the following elements :-
1) Hydrogen
2)" Oxygen
3) Helium
4) Carbon
UlstTeu Lo a1 Blewm g mis6iT F)5Ms @0 euenasullsy suflewFlii(hsbseyb?
1) ewami yeedr
2) syderdlgmedr
3) anfedlwid
4) smiruesr
A)1,2,3,4
B) 1,3,4,2
C)4,3,2,1
D)4,2,3,1
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111) Match the following:

a) Epinephrine - 1. Uterine Contractions
b) Parathormone - 2. Water resorption
c) Oxytocin - 3. Ca uptake

d) Leutinizing Hormone - 4.Glycogen breakdown
-5. Thyroid hormone synthesis
-6. Progesterone secretion

a) erGBLfesT -1. s@mlisvu Fmmis] ailiflgsv
b) urrrganmiGorst -2. B BenT(H)D 2_mlEhaspev
C) Y dhedGLTHedr -3. Ca st(h$g1 ClaTsiTEms 60

d) svryewerdli anTiGorer-4. Slewer Coremenesrd Flowsd s 60
-5. ewgrmii(h) anriGLmreT 2 MLk
-6. YGBrrElmewieGrmresT Hrdsev
A) a-1,b-2,c-5,d-6
B)a-5,b-6,c-1,d-2
C)a-5,b-2,c-3,d-4
D)a-4,b-3,c-1,d-6

112) Choose the correct pair:
A) Vitamin A - Fat soluble

B) Vitamin B - Fat soluble
C)Vitamin D - Water soluble
D)Vitamin C - Fat soluble

sflwrer Gewentuilenar Caiey GFiiss:
sweul_ L blest A -Gl&TpLiLiley HenTifD H6OTew DU |eDL G|
eweul’ L Lblesr B-G&mapliLiley &Hemruytd SesremLowjsnL_wig)

sweul’ L blest D-Bifleb &H6wrujid. &6TemiouenL_uig)

o ow>

eweul’ L 1blesr C-G1&mpLiilevHen b eiTemn Loi|enL_Wig)

113) Match the following;:

a) Android OS I) Research In Motion

b) Symbian OS IT) Google Inc

c) BlackBerry OS I1I) Nokia

d) ~Bada OS IV) Samsung Electronics
a) gem_rri® OS I) Agig @)eir Goragsir

b). AJwesr OS II) Google @)sird

c). uverrgeluf OS III) Gprédwm

d) ur OS IV) #ribemi eTEl6v&1_rmesh&er

A) a-1I,b-111,c-1,d-IV
B)a-1,b-11I,c-11,d-IV
C) a-1I1,b-11,c-1,d-1V
D)a-IV,b-1II,c-1,d-1I
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114) Match the following:
Bird Sanctuary District
a) Karaivetti i) Perambalur
b) Chitrangudi ii) Ramanathapuram
c) Vaduvoor iii) Thiruvarur
d) Vettangudi iv) Sivagangai
LIDSM6EUSEIT FTEUTT6VIILD LomeML LD
a) semrGeul_ig i) @uuibugyri
b) AgrmiGHiy ii) @) rrwprsyTid
d) Geul L migly iv) fleusniens

A) a-i,b-ii,c-iii,d-iv
B) a-ii,b-iv,c-i,d-iii
C) a-i,b-iv,c-ii,d-iii
D) a-ii,b-iii,c-iv,d-i

115) The erosional landforms of underground water is
A) Stalacites,stalagmites,Cave pillar

B) U shaped valley, Hanging valley, Cirque

C) Lapies, Poljes, Valleys and caves

D) Gorges, Canyons, Valleys

Blevsslg  Biflest flliLmed ssHLBID BlevgEsHTmHm BIS6iT

A. WL TVHFL, 6IVL_TVEHEMLOL, & 6Wds & T6UT 60T

B. U suigeu uerengsré @, ,015Thi@, LSTETGSTHE Fidh
C. Geovilev Gursv@gy , LIGTOTSS TG LLHMID &»s

D. wewev B)H&@ DHMIS HBL 8, LITOTHSTE S,

116) Which of the following is NOT correct?

A) Kalbaisakhi

Assam & West Bengal

B) Norwesters North West
C) Tropical Rain forest Western Ghats
D)Moutain Climate H type

&1 @PIOIUid’ 1 eweusafle seumresr eweu 615 ?

A) srvewLILIFSH)

B) pri Gleusivr_i

C) “Glou11aLo65TL 60 06D LSBT (D6

D) wensv &mevBlemev

OFTLD HMIb ChHE@ eunigs
suL Gum@
Gm @ BT T&FH wemev

H suems

117) The rotational speed of earth at equatoris__ ? *
A)Zero B) 1567 km/hr C) 1667 km/hr
ywsslw Crewsuilsy _ yuflufler spmd Ceusid?
A) £5Cyr B) 1567 km/hr C) 1667 km/hr
w

D) 100 km/hr

D) 100 km/hr
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- i) 16°-20°
-ii) 20°-30°
-ii) 7°N to 7°S
-iv) 7°-16°
-i) 16°-20°
-ii) 20°-30°
-iii) 7°N to 7°S

118) Match the following
a) Rain throughout the year
b) Summer rains ;winter dry
c) Light summer rains
d) All seasons dry;minimum rains
a) Y MT(HSH6T (LPLEUGILD LOEDLP
b) GarewL wewip; sumesntL Gefli sTevLD
c) uUlswrer CGsTewi WwenLp
d) Seweardg LHUBISET 2 WiThs GHMDSSULF wewp-iv) 7°-16°
A) a-1,b-ii,c-iii,d-iv
B) a-ii,b-iii,c-iv,d-i

C) a-iii,b-iv,c-1,d-ii
D)a-iv,b-I,c-ii,d-iii

119) Match the following

a) National Waterwary no.1
b) National Waterway no.2
c) National Waterway no.4
d) National Waterway no.5
e) National Waterway no.6
a) GapAw Frieufl erevor. 1

b) Gasflw Fieulf srewr .2

c) GapAw Frieufl erevor .4

d) Gasflw Bieull eTevnr.S

e)

CaAw BireuLfl erevor.6

A) a-1,b-2,c-3,d-4,e-5
B) a-5,b-4,c-3,d-2,e-1
C)a-1,b-3,c-2,d-4,e-5
D)a-4,b-5,c-2,d-3,e-1

- 1) Barak River
- 2) Mahanadi River
- 3) Godavari River
- 4) Brahmaputra River
- 5) Ganga River
- 1)

UTFTS Bl
- 2) wanTpg)
- 3) Gxrameuif]
- 4) dirbwysglrm Bl
- 5) &BIewS B

120) Which of the followmg is NOT correct?

A) Bhils Madhya Pradesh
B) Jarawa Andaman

C) Gujjars Himachal pradesh
D)Kolam Tamil Nadu

F1p P Lu’ L_eweusafle seumrest eweu 61

A). 160 D wgSlwr NrGseid
B) somgeur | | HBLOTEST
C) @oeari @ wrseols LrGsaid
D) Gsmrevid : SLOIpBT(H
@
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121) Which country is the leading producer of Diamond?

A) South Africa
B) Germany
C) Chile
D)Russia
eweuy Hwrlliilev wpesrerewt] BT H?
A) Gger g lifldbasr
B) Qg irwesfl
C) Hef
D) reigwm

122) Who among the following did not accompany Gandhi during the champaran
satyagraha on 1917?

A) Sardar Patel

B) Rajendra Prasad

C)J.b Kripalani

D)Mahadev desai

1917burrer FSSWTHTHSSIDS.5THS LT GlF6LEVTHOUT WTi ?

Figri ul GLsv

rr@mbslr rsrs

&) (LI 6V 6w

wETCHeu CHFTI

oowpr

123) The Battle of Chillian walla;was a part of?

A) Anglo-Maratha Wars

B) Anglo-Carnatic Wars

C) Anglo-French Wars

D) Anglo-Sikh Wars

Fevedluissr sursvr Guiri 2(h UGS WTsH @) (HHHSHI?

A) o BFCevw-wrTHSI GUTTaHeT
B) oymiflGevmr-simrLgs Guriser
C) oymslGevmillyepar Guimi
D) om&Geow FahHw Gumri

124) Arrange the following events in their correct chronological order:
1. August Offer 2. Cripps India Mission 3. Bombay Mutiny 4. Quit India Movement
Ulstteu b BlasLpeysHemer srevauflenFi(Bdgs
1. @sevl gpoour 2. slfldev @phglwr lagsr 3. LTbCU Hevsd 4. GlausTeweriiGer GCleuaflGuim)

[OITEEAN
A) 1234
B) 1243
C) 1423
D) 3142
o GS1902
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125) Father of renaissance of Western India was__?

A) B.M. Malabari

B) M.G. Ranade

C)R. G. Bhandarkar

D)Vinoba bhave

Gum@ @)hSH W LMILTFHASSTT HHews P

A) et NP _omest evLimi]

B) erb.gd). gpresrGr

C) oy B uewTL_Tirs T

D) aflGesormumr uirGeu

126) The vedic literature yoga darsana was written by?
A) Kapila
B) Patanjali
C) Jaimini
D)Badarayana
Cuirs FiFerr eTedTn Cougk B)eVEHlWbens  6TLH weui?
A) sullevir
B) usepsed
C) Oeuiwesf]
D) usrwmrerm

127) Who among the following is known as ‘Mother of Indian Revolution’ ?
A) Rani Laxmi Bai of Jhansi

B) Bhikaji Rustam Kama

C) Annie Besant

D) Sarojini Naidu

'@ bSlw L Aulledt HTis " 6TTMI WS SLILIBILIGUT wWTi?

A)  somesrerd] yrewsfl eOL s o] LMl
B) uWared smwor
C) oerevt] GlFedri
D) #Grrgdlesfl sruy®

128) The Lucknow session of Indian National Congress that took place in 1916 was
presided by

A)Rash bihari Ghosh

B) Ambika Charan Majumdar
C) Bhupendra Nath Bose

D) None of these

1916 gyib et BLHd @)bSw CasAw srmiSlFedlsT 0&HCRTT gn L' L G6lGTL L WTT HewevewLD
BT BISIUTTT?

A) greg tsmifl Gareg

B) oibiilsr Frewt wegdibgri

C) yGubdlr prs Gumern

D) @eaummlev sTgia)ib @)sVemsv
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129) “Poibos” a form of salutation to the king was introduced by?
A) Iltumish

B) Balban
C) Nasiruddin
D)Bahram Singh

»UGLITE 6TdTN FnMUILIHLD TFEDT UNTBIGLD LSl eUewTdHS (pewmenil M (ps LB S weuri ?
A) @asidsiy
B) wumsvuimresr
C) pdmglsin
D) wugmib fAm

130) The Dravidian Hostel for Non-brahmin students was run by?
A) Pitty Thiyagaraya chetty
B) Dr. Ambedkar
C) Dr. Natesa Mudaliar
D)Dr. T.M. Nair
Ulrmoewti- 96DV THeuT % Ehd @, Slrmalller all(hd) - sww bHGS weur wimi?
A) Ul g FlwrsTrmw GF g
B) Dr. gGugai
C) Dr. pGL& wpgpedlwri
D) Dr. T.M prwi

131) The national anthem of India ‘Jana Gana Mana’ was first sung at __:
A) Calcutta, 1911

B) Calcutta, 1912

C) Delhi, 1911

D)Mumbai, 1912

@ bslur CaFw FH1b 'mer et wer wsHedled _ urLrinl L g

A) svaghsT, 1911

B) seovasgsT, 1912

C) glsved, 1911

D) @pioewui, 1912

132) Who was the President of the “Flag Committee” ?
A) BU R. Ambedkar

B)J. B./Kriplani

C) K. M. Munshi

D)Dr. Rajendra Prasad

Q&TY GupallsT" Hemeveum wri?

A)l .oy i.obCudasit
B) G N Smuermesf]
C) Gs stid (el
D) Lrsi rrGmbslr tysrs
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133) Consider the following events of Indian National Movement.

1. Gandhi Irwin Pact
2. Poona Pact
3. Karachi Session of Indian National Congress.
4. Individual Satyagraha
Select the correct chronological order of the events from the codes given below. Codes
@bglw CaHw @uidsd LilsTeumid BlsLpeysener Lifld edlujmiser.
1. srhd) @)iailer spliLihgLd
2. yoorr @liubSLD
3. sITESF Yyiey.
4. geflliul L FSwTHlrs
G OHTRSSIUL L GBIUTHSH6T BlopayHer FHluTear sTevautflens?.
A) 1,3,2,4
B) 2, 3,
C) 3,4, 2,
D) 4,3,2,1

4,1
2,1

134) Which among the following regions was most affected by the Revolution of 1857 ?
A) Punjab
B) Maharashtra
C) Avadh
D)Madras
Ulesteupid sThd Liggd 1857 Yyl fuiled s Bl urglssiiu’ L g)?
A) uEpaTL
B) wsrrreggrr
C) oeurs

D) Qasiremevr

135) The 9th term of the sequence 1,1,2,3,5,8,13....... is?

1,1,2,3,5,8,13....... sterp OsTLiT suflenaullest Qeug o miiy?
A)21 B) 26 C) 34 D)23

136) 1,2,3,10,_X,9802
X=?
A) 34 B)77 C)99 D)255

137) The HFC Of two numbers 150 and 225 is 75 then the LCM of those number is?
@) eTevT Hafletr L6.GlLIT.eu 7S6t63fl6L j6uGlusmTH6f6HT LF.GLI.LDP
A) 450 B) 225 C) 400 D)325

138) The value of 25% of 1200 is ?
1200-6v 25% et6usuerey?

A) 300

B) 900

C) 200

D)400

o ' | GS1902
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139) Vijay types 540 words in half and hour. How many words he will type in 9
minutes?

A) 164 words

B) 172 words

C) 152 words

D) 162 words
allmis 9w wenfl CHrsdler 540 aurTidHemssemer L L &5 QFwWSDTi. 9 BIflL_S5F60 jaui 6T5sHemevr
UTTHMBHMET SL_L Fa GFiieuri?

A) 164 eurisengpseir

B) 172 surisengassir

C) 152 surigemgamssir

D) 162 surigewgser

140) The value of ? wdglliurerg?
248 x 2.48 -1.52 x 1.52
13
0.96
A)4.0
B)4.4
C)1.0
D)0
141) In the series

641228742153862171413286

How many pairs of alternate numbers have a difference of 2?
A) 2 B) 4 C)6 D) 8

641228742153862171413286

sTeaTm GClBmL_fleD spedTmy eill’ (h) PTMI 6TWTHETTS 6THFHemerT G TigHeflerr allsFSluwiTFid 2 sTevrds

HITGHTSH P
A) 2 B)4 C)6 D)8
142) SIMPLIFY:
]  Qasp” _
5 2t
] 4
A - B) 4 ©c = @ &
4 5
143) Find the next letter in the following sequence of alphabets
&1 eu(pLD GHTL e 9BHHSHI e (HLD Y BISIEV 6T(LHGI 6TETET
M,N,O,L,R,ILV, ?
A)A
B)E
C)F
D)H
w GS1902
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144) By selling an article for Rs. 480 a person lost 20%

. For what amount should he sell
it to make a profit of 20%?

spmeui sp(f Gurmeflewerr 480 epumiisgs@ allhLswer GFISTD SjauhdbE eTHL (HLD HeiGL LD
20%9)6uH% @ GevTULD SlewL_da CousnT(HLd sTOTMTEV b CILIT(HETleneIT 6w 6TSHBHMT CHLITIIS S,
allhs Ceuer(H)b?

A) Rs.800

B) Rs.760

C)Rs.720

D)Rs.680

145) The compound interest on Rs.30,000 at 7% per annum is Rs. 4;347. The period in
years is
Y T(hdEE 7% anl B sul_iguilev Rs.30,000 wyseSmarer aul g rs.4,347 stesfled srev 9j6mey
THBHMET Y eWT(NSH6T 6T6vTd Hevor(HLillg

A)2 B)5 C)3 D)4

146) 140men can finish a piece of work in 11days. How many days will 110men take to
finish the same work?

A) 15days
B) 12days
C) 13days
D) 14days

140Gui spp Couswevewws 11pmL seflev wigsHlermenti.9Cs Cousmevewws 110Cuii e1d5emesr
BT _Seflev (pigLiimi?

A) 15 priser

B) 12 priger

C) 13 prigssr

D) 14 prigsr

147) A flower garden is in the shape of a rhombus . The length of its diagonals are 18m
and 25 m . Find the area of the flower garden.

@ LHCHTL LD FTI FGIT eulgallsy 2 6Targl . sH6iT cpewer aill L Bissr 1816 & 2516
LhGCSHTL L & FleoT LTLiLierey?

A) 450 sq.m

B)225 sq.m

C) 324 sq.m

D)18 sq.m

148) If A:B = 8:15, B:C=5:8 And C:D=4:5 then A:D is equal to
A:B = 8:15, B:C=5:8 wpmiib C:D=4:5 erevflsv A:D wgliiy

A) 2:7

B)4:15

C)8:15

D)15:4
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149) If 2x+3y-5z=0 and -3x+2y+7z=0 then the ratio x:y:z ="7?

2x+3y-52=0 Gugb-3x+2y+7z=0 ererfleL X:y:z s165Tm iHlBID 615D G Fob  ?
A) 1:13:31

B)31:1:13

C) 1:3:5

D)13:7:5

150) What integer must be added to each of the four numbers 10,18,22,38 so that they
become a proportion?

10,18,22,38 e163Tm BT6ITF) 6TEWTHEBLD 6THG (LP(LL STEWTEHEWT I LG SITT6V FleWL_d>@FHLD TEITHET 6(1h
all&ls FSens 9emLd @D ?
A)4
B) 14
C)2
D)12
151)

The sum of numbers common to two diagrams is

QasTHHsLLL (HsTar UL GFlev 7CHemID, @) [H uewT LIL BIGEHDGHLI GILITGI6uTH 2 _6T6T 6T6UT H6iledr
o (h)FH 6V

A)118 B)110 C)108 D)130

152) Arun’s age is half as his father.Twelve years ago, his father’s age was three times
that of arun’s , what is the present age of arun?

SHEUTEHI | (HewiledT auiligh Ut SHewspullest auwigled LTH .12 o eT(hsEHdbE (LPTL HHewsullest

QWG| | (HETleT aullengL GLITeD eLpedTm) LOL_BIEF, 6T6dlsL, SMHELITEMHUI ) (HewTl6i euiig) 6TeoT6dT P
A) 24

B) 48
C) 36
D)12

153) LCM of two prime numbers x and y (x > y) is 161. The value of 3y-x is

X wpmib y @t usm stewrsaflsst LCM @i 161 . (X> y). etesfls 3y-X wgliiy ?
A)-1

B)-2
0) 1
D)2

GS1902
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154) The perimeters of two squares are 40cm and 32 cm.Find the perimeter of a third

square whose area is equal to the difference of the areas of the two squares
@rew(® FairBisefler Fnmerayssr wempGuw 40 Q. 1f & 32 GlF. 1f urliusralileT LG

F3IrD @)euall(h FaITmISeTeT LUrlitaTailst allSSlLTFHMS LTLILIOTOITS ClBTETL CLPSTDTEUS
FHITSS6T &MHMET6Y 6T6dT6OT P

A) 40 cm

B)36 cm

C)12 cm

D)24 cm

155) The difference between two parallel sides of a trapezium is 4cm. The perpendicular
distance between them is 19cm. if the area of a trapezium 475 sq.cm.find the length of the
Parallel sides.

p(h Flleusgdler @)H @ewent LGEBISafl6T alldSwirsid 4cm G @)euallm @) snest
L&&HBISEHGH LG 2 erer GlFBIGHSHSH HTrd 19cm .Ffleussdler uriiterey 475 sq.cm sresflsy
96T )5 B)eWeWT LidHBISAT6IT D666l WiTemeu?

A) 20cm & 16 cm

B) 27 cm & 23 cm

C) 27 cm & 20 cm

D) 25 cm & 23 cm

156) Arrange the following in the increasing order of oxidation of sulphur:
FOLIT Senialledt 9y dbedllemCarmm sTeit Sy Litent_uilsy LNesTeuheussTeunemm e7my euiflewFuilsd

6T(LSIS:
80%-,8,0%,8,0

Sﬂg' < S?ﬂi' < Szﬂg'

A)
B) 8,0f <80% <8,0f
Q) 8,0} <58,0% <80}
D) 8,0 <807 <8,0f
157) Balance the following equation and find out the value of a,b, X and Y

Ulettouid Foedtuml_ewL Fuesr GFig a,b, X & Y g darenrs:

6Fe* +Cr,07 +aX - 2Cr*" +6Fe™ +bY (acid medium) (suSicoid)
(A) a=12,b=6 X=H,0', Y=H,0,

(B) a=16,b=8 X=0H",Y=H,0

(© a=14,b=7,X=H",Y=H,0

(D) a=10,b=5 X=0%,Y=H,0,

o ' | GS1902
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158) Match the following:

a) CNG 1 . Carbon monoxide,Hydrogen
b) Coal Gas 2 . Butane, Propane
c) LPG 3 . Methane, Ethane
d) Water Gas 4 . Hydrogen, Methane, Carbon monoxide
a) Herergd] 1. sriueT GureTrsens®), snwamL reeir
b) Blevgsfl erfleuryy 2. uy” GLssr, yGrrGuessr
c) erevLilgd] 3. 65856, 615 CH60T
d) B erfleumuy 4. ewanL g6, 16585601, STiLIeT GLTeTTdHens (B
A. a-2,b-1,c-3,d- 4
B. a-3,b- 1,c- 4,d- 2
C. a-3,b-4,c-2,d-1
D. a-4,b-2,c-3,d- 1
159) which of the following is not correctly matched?
A. Article112 - Central government budget
B. Article 202 - State government budget
C. Article 280 - Finance commission
D.Article 266(1) - Public accounts of India
Ulstteupeussteumpled Fflwimas Glumhhsailsvensv?
A. Article112 - WSl 9 THeT aure| ClFsve,
B. Article 202 - LTBleV T HeT eure| ClFavey
C. Article 280 - JHEEANEY )
D. Article 266(1) - @)bFlw CLITE) %6 @ SH6T
160) The Minimum Support Price for Food grains was introduced in the year -
GHODHSLULF 2 ey STl 576 ailewev 96071460 DSBS SILL L g P
A) 1954 B) 1944 C) 1964 D) 1974
161) The Gandhian plan was presented by
A) M N Roy
B) Nehru

C) Shriman Narayan
D) 8 leading economists,

wrymed sThHSWw S L 1D eupbisLiul L g)?
A) eTLD 6T6dT MUl
B) Cpm
C) wfiorest mmymwiesst
D) 8 psitesremst] QuirharTSTy BlLjewriseir

162) Which of the following tax is not levied by the Union Government?
LilesteuheussteupmleL 618 WS T allgl Gsene?
A) Profession Tax Ggmiflev surf

B) Road Tax FTem6v auif]
C) Gift Tax Ojedruef iy suif]
D)Income Tax ou(HLOTevT 6]
o GS1902
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163) From when was the Zero Base Budgeting in India first experimented?

eTICILT g @)bslwTaisy oFGrr CGuev L Gl e Y edled LNCFTFGHHLILIL L g7
A) April, 1988 ertiugsv 1988
B) April, 1986  eriirsv 1986
C) April, 1987  ertugev 1987
D)April, 1989  eiugsv 1989

164) The adoption of High Yielding Variety Programme in Indian Agriculture started in -
@hglw alleusrwggev 2 wi ailsnearaisslerm Geuswri iy St b (HYVP)
B PpSILBSSLILL L g7

A) 1966
B) 1965
C) 1968
D) 1967

165)
map?

A) Indira Gandhi International Airport

B) Jaipur International Airport

C) Chhatrapati Shivaji International Airport

D)Anna International Airport

@bslurailsy psHsv eustsTent GHBIUTL (B eueHTLIL LD 2_@hour s allloresT Blewevwilh 61| ?
A) @bslrT srhgl FieuGsHeF allorest Blewesvwib
B) Qi FireuGss allorest Blemevwib
C) #grud Asurel] FieuGsa ailme Blewsvwiid
D) gjewtenrm FieuGsha allorest Blemwevuwib

Which of the following airports is the first one in India to,develop a color-coded

166) Which of the following is not correctly matched?
Ulsitaupid sThp GlsTLi FAlwrs G mhGallsvensy ?

Awards afl(pai Instituted year
QULPEIG QST BISLILIL L 2)651(D)

A) Jnanpith award eprets (T el g 1961

B) Bhasha samman uregr &wiwresr 1996

C) Saraswati samman Freveugl FibLomesr 1989

D)Vyas samman  ejluimen) FbLomesr 1991
167) Garuda Shakti 2016 is the joint military exercise between India and which

country?

A) Indonesia

B) Malaysia

C)Maldives

D)Vietnam

& (HLet F55 2016 @b sThd BT (HdbGH0 @ewL_Cuwr gn ' B G)rremisu Lullphd?
QbCsTCeTaflwir

wGsvaflwir

LOTeVS S 6
eflwi’ Brid

o o>
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168) Where is mesentery, the newly discovered organ located?
Yalaras sentLilgssiiul L “Quwelgsri i “sTenitd o mitiL 6Ti1ICs HewioBGI6TeT?
A) Brain epener
B) Digestive system G&flrer gemioliy
C) Respiratory system seurs oemioliL)
D) Vertebral column upgi@asspiibLy

169) India’s first Metrino Pod project will come up in which city?
@bgluraist poHsv Gl MGerm LTl S L b B&HTLD eueHT 6u(HLD?

A) Noida @pmii_m

B) Gurgaon @& mesr

C) New Delhi g glsvedl

D) Lucknow sv&G@esrr

170) “Hari katha” was widely used in south India. It is related?
A) Language

B) Temple architecture

C) Instrument used in war

D) Art form

"anifl 51" CseTallbFluTallsh LITausLTs YWPHBLILILL ). D&l CIBTLLje»Lwig?
A) 2@ Cwrif
B) Gamailsh &1 191 _daemsv
C) Gumrflev LweTu@RSSLILELD HHal
D) semev auigeuib

171) Which of the following is not correctly matched?

A) National emblem adopted on- 26 January 1950

B) National flag was adopted on- 22 June 1947

C) National anthem was first sung on-27 December 1911

D) National song was first sung on- 1896 Congress session
Ulsiteu b 6ThBHMWlbemas Filwira ClLT(hhseailsensv?

A)  Gadw HAsitesrion s syHmid Cameireriiul L g|- mevsreurfl 26,1950

B) Gaflws Qasmgenw sshmid Gasrsreriiul L gi- 1947, sxdesr 22

C) GCasAw Hab 1psHedlev Lmgwig-27 1gaioui 1911

D) Gaflw urev 1psedlsd Limrgwig- 1896 BL_bs HTHISTeV THTL 16D

172) Match the following
1) Kerala -I) GOD’S OWN COUNTRY
2) Andhra Pradesh -II) ITS ALL IN IT
3) Tamil:Nadu -III) ENCHANTING
4) Karnataka -IV) INCREDIBLE INDIA
5). Telegana -V) ONE STATE,MANY WORLD
1) ‘Gayerr -I) GOD’S OWN COUNTRY
2) obgr r8seay -II) ITS ALL IN IT
3) spBTEH -1II) ENCHANTING
4) siprLST -IV) INCREDIBLE INDIA
5) QaemisTeTT - V) ONE STATE,MANY WORLD

A) 1-1,2-11,3-1I1,4-1V,5-V
B) 1-1,2-1V,3-1I1,4-11,5-V
C) 1-1,2-1V,3-111,4-V,5-1I
D) 1-1,2-V,3-1II, 4-1V,5-1I
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173) Which of the following is not correctly matched?

Liesreu(pid sThbYMIdbewas Fluwims GlLmHbsalsvensv?
STATE — COASTAL LENGTH
A) Tamil Nadu - 1076 Km

B) Andhra Pradesh — 999 Km

C) Kerala - 580 Km
D) Karnataka - 320 Km

174) ILO(International Labor Organization) was formed in the year?

FieuGsa G\Griflevreni eworiLy----- 9},68TLG 6V 2_(TH6UT6ITH)| P
A) 1915B) 1916 C) 1918 D) 1919

175) Which of the following is not correctly matched?
Ulesteu b 6ThH Y Mdbewads FHlwTes GlLTHbsalsvensv?

A) SAARC - Kathmandu srgwressr(h

B) ASEAN -Dakka 1 r&sr

C) WTO - Geneva Ggefeur

D) APEC - Singapore HmbisLiyiT

176) Which cricket team has won the 2016-17 Ranji Trophy tournament?
A) Chhattisgarh

B) Gujarat

C) Mumbai

D)Tamil Nadu
61hg HM&E0EsL gewfl 2016-17 repd) Cariienu Curi.iguilsy GlausTmisTerg?
A) FEFVHIT
B) sarms
C) @poewu
D) slppr®

177) In the Industrial Policy of 1991, how many industries were reserved only for Public
Sector?

1991 OQarflharensy ClEsreTens, stsmer GsTHIDFTMVSHST CLTSHISSHIMD WL HGW HIHEMH
QFinwiL’ L g)?

A7

B)8

C)11

D)13

178) Where is the headquarters of the International Vaccine Institute (IVI)?
A) Germany

B) Brazil
C) South Korea
D)France

61B1I8s FieuGase $MHLIY Ww(Hbg @)erevigigupl’ (IVI) semevewowisid 2 srergy)?
A) Qggirievf]
B) Grdlsv
C) Qger Qarflur
D) Nyresrerv
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179) Which portal has been launched by the Union Government for Sarva Shiksha
Abhiyan (SSA)?

A) Shiksha portal

B) Maitri portal

C) Desh Bharti portal

D) Shagun portal
6Tbgy GumiLed &Fieu Hgagr lwrer S HDasrs wHEW  Hra  (6TeNeTeVsT)  ELPEVLD
QBrLmisliul L g?

A) Fgagr GumiL_ev

B) ewwgifl Gumii_esv

C) Gaeg umig GumiLev

D) eg@er GumriLsv

180) What is the theme of 2017 National Youth Festival (NYF) in India?
@pswr 2017 CasAw @swerepi ailpr (NYF) &msai ereirev?

A) Power of Digital India

B) Celebrating Diversity In Unity

C) Youth for Digital India

D)India Youth for Skill, Development and Harmony

181) Reserve Bank of India was nationalized in the year_..?
@bl feFieu eunid) CoHAwwwiorssiinil L 6T ?

A) 1935

B) 1945

C) 1949

D) 1969

182) Which of the following State ranks highest in production of eggs in India?
A) Maharashtra

B) Andhra Pradesh

C) Tamil Nadu

D) Uttar Pradesh

UletTeu(pLd 6Th% T BV @) holwimalled L ewL_sH6T 2 Hudglulled Lpshedl (b?

A) wasTITeIyTT
B) eynglrd UrGseid
C) sulppT®H
D) o gsrii LNp@said

183) India’s largest public WiFi service has been launched by which state government?
A) Kerala

B) Himachal Pradesh

C) Maharashtra

D)Karnataka

@psluraisrt s Guflu Glurg WiFi Gsemen __ orBlev SrFmed GmL_sisliul 1 g)?

A) Gasrerr
B) @)wragevls LlrGsaid
C) wasrrreggrr
D) siprLsm
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184) Which film has won the best motion picture award at the 2017 Golden Globes
awards?
A) La La Land
B) Lion
C) Hell or High Water
D) Moonlight
61 UL 1D 2017 GamevL_sir &Cermii allmgiseflsy Anhs Curager Lssi allhaws GlLHMIHI?
A) e eUT eUTeNETL
B) svwesr
C) Gamsv osvevg 2 Wi B
D) ewpstr emevr_

185) The 104th Indian Science Congress (ISC) has started in which state?
A) Kerala

B) Assam

C) Andhra Pradesh

D) Manipur

104 sug @ pFlw Plailwsd srmdlyen (merevd]) _ wrBlevsdled 2 srer GQsmL_biglwig)?

A) Gsrerr
B) 9grid
C) opalrt LrGsaib
D) wewfliiyi

186) According to Administrative Reforms Commission, the Lokpal would be appointed
by the President after consultation with the:
1. Chief Justice of India
2. Leader of opposition in the Lok Sabha
3. Speaker of the Lok.Sabha
4. Chairman of the Rajya Sabha
Blireurs £idl(hbd SO Lilg, 6TTHLIF] 9, Ceurdflss Lim@ Cevmrdumsy Blwblldas i (heur:
1. @pslul Bewevewn b DL
2. wohserensu 6THlidh s Fd Hemsveum
3. LD&EHETEM6USH Hewevaui
4. TBlVBISOTENE SV T
A)1,2,3 and 4
B)1,2and 3
C)1, 3 and 4
D)2, 3 and 4

187) The 73rd Amendment Act does not apply to the states of:
1. Nagaland
2. Mizoram
3. Jammu and Kashmir
4. Meghalaya
73-6ug| SlHGHdF FL L 1b QUT[HHSTS LOTH VLD
l.prsmeorbg)
2. IGFTTLD
3. Wbp HTeGLbT
4. Gusreowr
A) 1 and 2
B)1, 2 and 4
C)1,2,3and 4
D)2 and 3
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188) Which of the following are true of the Central Administrative Tribunal?
1. It was established under the provisions of Article 312-A of the Constitution.
2. It was set up by an order of the President of India.
3. It was set up in 1985.
4. It was set up by an Act of Parliament.
UlsiTau b 6Thd Fndmi WwSSw Blieurs iliumwid upp] Flwrerenes ?
1. @& grFemwiiier 312-A £1p plmieuliu’ L_g.
2. @51 @Q)bSw WeTTSILF] DT CLPEVLD Y WLDSSLILIL L F).
3. @)1 1985 gyib oy e0t(h) YWHBLILIL L ).
4. @)% UTTTEHLLSTDF FL L SHH T CLPEULD HeWLDGSHLILIL L g
A)1,2and 3
B)1,3 and 4
C)3 and 4
D) 2, 3 and 4

189) Which of the following statements are correct?
1. Balwant rai Mehta Committee was appointed in 1957.
2. Ashok Mehta Committee submitted its report in 1977.
3. G.V.K. Rao Committee submitted its report in 1986.
4. L.M. Singhvi Committee submitted its report in 1987.
Ulstteu b ymlGemssaflsy sTeweu Fflwims 2 sroresr?
1.ueveupbd rmit CuiHsT G 1957 9y TR BlwdldGsru’ L.
2. 9IGFrs CuwiHsT @G 1977 v 18 Y PdewsHeww Filillssgi.
3. Ml.all.Cs. greu G 1986 @)ev Ferg Y Plébswsemw FwiliLilghsg).
4. etev.61id Amiall Gy 1987 @)ev ergl 9 PlsewEemi Forliilssgi.
A)1,2and 3
B) 1,2 and 4
C)1,3 and 4
D)1 and 4

190) Panchayati Raj is assystem of:
A) Local government
B) Local administration
C) Local self-government
D)Rural local self-government
LIEhFTWSHS| TTE
A) o _¢irean i O[rFTHISLD

R(H S|eWLOLIL]

B) o sireopi Blreursid
C) o _siresmpic Fw I FThISLD
D) oi6iteerni Srmo FHur OrFTHISLD

191) The District and sessions Judge works directly under the control of?
A) District Collector

B) Governor of the state

C) Law Minister of the state

D)High Court of the state

wreul L woHmib  CFFeTey  BHluF  wrmewLw s Bhuriiger  Hp  Crriguwrs
SO LB G| 6TET g P
A) wreul L gy Hui
B) wrplev oy enmi
C) wrplev L gewwdai
D) wrplev o wi FdlesTmid
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192) The Chairman and members of the UPSC Term of office :
A) Three years
B) Four years
C) Five years
D) Six years

ujiletevd Heweveum HMID 2 MILILNETIH6T LGNS TEVLD:
A) apsiTnl ATOEEHES
B) prerg oamGsens s
C) @ps ASTOHEH5E
D) 9m emhsenss

193) Planning Commission was set up on the recommendation of:
A) National Planning Committee
B) Gorwala Report
C) Planning Advisory Board
D) Constituent Assembly
S L& sLdlegesr uflbgiewrullest Gufled SyewiodssLiLLl L g):
A) CGaAlw Sl 10l 6V @
B) Garieurevr 9njlsens
C) S L1lL6v g CevTFemert eummlwiid
D) oirflwev L L Fliewrw Fewui

194) Which is correctly matched?
A) Amendment procedure — Article 268
B) Duties of Prime Minister — Article 74
C) President’s rule — Article 365
D)Inter-State Council — Article 264

61gl FHlwrs CUTHBSHISIDGI?
A) s L s GFweopenm - ailgh) 268
B) Ulrgwi sL_swwser - ailgl 74
C) Blypwrss semeveui ' F - allsl 365
D) wrBlevBisensasret @~ aisl 264

195) The Governor-General of Bengal became the Governor-General of India by:
A) Government of India Act of 1858
B) Indian Councils Act of 1861
C) Pitts India’Act of 1784
D)Charter Act of 1833
6T FL L GSHI6HT eLPeVLD eUBISTET HeuTerri CleerreV () bhBlwl &euiedri-Cle6sT 6D By 6eormii:
A) @bslur rama’ Lip 1858
B)186 1. @)hglur semLiser #1' L 1b
C) 1784 g0 gyewr(h) LI 60 @)hHlwim FLL_1b

D) 1833 #raerib &L L_1b

196) The Planning Commission is described as the “Economic Cabinet” by:
S L& sLlager snw "CUTHeTTHTY HewidFreneu” srer allouildhgeu:

A) P.P. Agarwal P.P. 9aisumsv

B) Ashok Chanda oG#ré #rhsr

C) D.R. Gadgil 3.9y #5460

D)Santhanam #pgresrid
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197) The budget was formally introduced in India in:
aure| ClFevey Sl L 1d 1pHev ewpwTsh @) bslwrailsy sT1CUTH M WpHILBSSLILL L GI? 2 _6Ter.

A) 1860
B) 1947
C) 1950
D) 1868

GROUP 1 PRE MODEL 1-2017

198) Which of the following acts introduced the principle of election in India.
A) Indian Councils Act of 1861
B) Indian Councils Act of 1892
C) Indian Councils Act of 1909
D)Indian Councils Act of 1919
Uletteupid 6Thd FL L 1b @)hFlwimailsy Chiged Glasmearensent omlLpssLiLbhdg wg?

A) 1861 @)hslw FewLigsir FLL LD
B) 1892 oyib ope1(p) @)hFw S rFTBISF FIL 1D
C) 1909 syib st @)bFHw HTFTHISF FL_L LD
D) 1919 b e1(p Q)b S TFTBISF FIL LD

199) Which of the following enjoys the constitutional status:

DUl WN —

6

land 5

Cowe

. Finance Commission

. Planning Commission

. Zonal Councils

. National Development Council
. Election Commission

. University Grants Commission

Ulsiteupid 6751 S rFlwevswioliL] bseVSHI GClLDHDSI

1, 3 and

) siflagair

1
2. 1L & siflagesr
3.
4
5

UGV IS F63 LIG6T

. CaAw euenidd FHeysiTFlev
. CpTEH60 g emenTuiLd

LIVSH6D6VE B LPS LT 6O UITBIHEIT 66307 d5 () (LD

1,2,5and 6
1,3,5and 6

200) Who is.regarded as the “Father of All-India Services?”
A) Lord Macaulay
B) Lord Cornwallis
C) B.R. Ambedkar
D) Sardar Patel
I FHev @) bFlw Cremeusmssit sHews wri?"
A) EuwsasrGs Ulry

B) &miereuredla: Ly

C) .oy 9bCussi

D) sigri uGLev
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